ltem Number

A
A0101145
A0101149
A0101150
A0101151
A0101155
A0101160
A0101161
A0101163
A0101165
A0101166
A0101167
A0101168
A0101169
A0101171
A0101173
A026003
A026008
A026011
A028012
A028013
A0280135
A028014
A028016
A028018
A078031
A078032
A078033
A078034
A078035
A078036
A0780365
A078037
A08014
A08016
AB
AB01075
AB01175
AB02382
AB08044
AB10010
AB10027
AB10041
AB12316
AB12376
AB13081
AB13106
AB13120
AB13131

Warrior Supply's Electronic Inventory

- in Adobe Reader to search.

Item Description

AUTOMOTIVE SUPPLIES
GAS CAN 1 GAL

GAS CAN 5 GAL METAL "JERRY"
GAS CAN 5 GAL.

GAS CAN 5 GAL. SAFETY TYPE 1
SPOUT GAS CAN 1-1/4"METAL FLEX
GUNK CARB MEDIC CLEAN

GUNK ELECT MOTOR CLEANER
BRAKE CLEAN BERRYMAN

CARB. & CHOKE CLEANER B 12
CARB. & CHOKE CLEANER CRC
BRAKE CLEAN CRC

CONTACT CLEANER CRC

OIL MARVEL MYSTERY QT.

OIL MARVEL MYSTERY GAL.

OIL AIR TOOL QT.

QUICK STEEL 20z.

JB KWIK REPAIR

SUPER GLUE

GLASS CLEANER AEROSOL
SIMPLE GREEN 24 oz.

SIMPLE GREEN GAL.

ARMOUR ALL CLEANER 20 oz.
ARMOUR ALL 32 OZ.

ARMOUR ALL GAL.

TOW STRAP 1-1/2" X 18'

TRAILER BALL 2" X 1" SHANK
TRAILER BALL 2-5/16"

PIN LOCKING F/RECIVER

PIN F/RECEIVER

RECEIVER ONLY F/TRAILER HITCH
RECEIVER 6" F/TRAILER HITCH
RECEIVER 3 WAY F/TRAILER HITCH
JUMPER CABLES 20' X 4G GOLD
JUMPER CABLES 20' X 4G 500 AMP

ABRASIVES & WIRE WHEELS
WIRE WHEEL 6" F/BENCH GRINDER
WIRE WHEEL 8" F/BENCH GRINDER
WIRE WHEEL TWIST 3" STD

WIRE WHEEL 4" STD

BRUSH CRIMP WR END 1" X1/4"STM
BRUSH KNT WR END1-1/8"X1/4"STM
BRUSH CIRC FLR END 3" X1/4"STM
BRUSH CUP KNT WR 4" X 5/8"AH11
BRUSH CUP KNT WR 6" X 5/8"AH11
WIRE WHEEL CRIMP 4"X5/8" AH-11
WIRE WHEEL TWIST 4"X 5/8" AH11
WIRE WHEEL TWIST 4" W/5/8"N
WIRE WHEEL STRNG BD4"X5/8"AH11



AB13156
AB14036
AB14066
AB17604
AB17615
AB17617
AB2001
AB20034
AB20058
AB242542
AB242714
AB242726
AB260841
AB260843
AB273358
AB282011
AB282511
AB283011
AB30002242
AB30010279
AB30010282
AB30010284
AB30010285
AB34001251
AB34001587
AB34001588
AB34001589
AB34001590
AB34001591
AB50518
AB50519
AB50520
AB50810
AB51531
AB51532
AB51534
AB51535
AB51551
AB51552
AB52003
AB52004
AB52015
AB52016
AB52017
AB52623
AB56423
AB56428
AB56429
AB56454
AB56470
AB56490
AB60022
AB60043
AB60044
AB60134
AB60137
AB60508
AB914831
AB914833
ABA36HFX
ABA36MTX

BRUSH CUP KNT WR 3-1/2" X 5/8"
BRUSH CUP CR WR4".020 5/8-11AH
BRUSH CUP CR WR6".014 5/8-11AH
WIRE WHEEL CRMP 1 1/2"X1/4"STM
WIRE WHEEL 3"CNFLX.008 1/4"STM
WIRE WHEEL 3"CNFLX.014 1/4"STM
BRUSH TUBE POWER DRIVEN 1"
BRUSH TUBE POWER DRIVEN 3/4"
BRUSH TUBE POWER DRIVEN 5/8"
GRIND WHEEL 4 1/2X1/4X5/8
GRIND WHEEL 4 1/2X1/4X5/8
GRINDING WHEEL- 7" X 1/4"X8-11
FLAP DISC TYPE 27 7X5/8 ZA40
FLAP DISC TYPE 27 7X5/8 ZA80
DISC CUT OFF 4 1/2X.60X7/8

WIRE WHEEL CC 2" 1/2-3/8" AH
WIRE WHEEL CC 2 1/2" 1/2-3/8"
WIRE WHEEL CC 3" 1/2-3/8" AH
GRIND BENCH 6X1X1

DISC COATED FIBER - 36 GRIT
DISC COATED FIBER - 60 GRIT
DISC COATED FIBER - 80 GRIT
DISC COATED FIBER - 100 GRIT
SAW STATIONARY 16X5/32X1

FLAP ABR 3X1X1/4 A40

FLAP ABR 3X1X1/4 A60

FLAP ABR 3X1X1/4 A80

FLAP ABR 3X1X1/4 A120

FLAP ABR 3X1X1/4 A180

ABR FLAP 3 x 2 x 1/4" 60G

DISC TIGER TYPE 29 4-1/2" 60GR
DISC TIGER TYPE 29 4-1/2" 80GR
DISC FLAP TYPE 27 4 1/2" 80 GR
PADS ROLOC MEDIUM MAROON 2"
PADS ROLOC COARSE 2"

PADS ROLOC MEDIUM 3"

PADS ROLOC COARSE 3"

PAD BACKUP 2"/ PLASTIC BUTTON
PAD BACKUP 3"

FLAP ABR 1 X 1 X 1/4 A60

FLAP ABR 1 X1 X 1/4 A80

FLAP ABR2 X 1 X 1/4 A60

FLAP ABR2 X 1 X 1/4 A80

ABR FLAP 2 X 1 X 1/4 A120

FLAP ABR 3 X 1 THRD 80 GRIT
WHEEL CUT 3"x3/8"x.035 AH
WHEEL CUT 4"x3/8"x.035 AH
WHEEL CUT 4-1/2"x 1/8"x 5/8-11
WHEEL GRINDING 4-1/2X1/4X 5/8
DISC GRINDING 9"X 1/4X 5/8-11
MOUNTING MANDREL 1/4" STEM
DISC BLENDING 2" 80 GRIT

DISC BLENDING 3" 36 GRIT

DISC BLENDING 3" 80 GRIT

DISC BLENDING 3" 60 GRIT

DISC BLENDING 3" 120 GRIT

PAD BACKUP / METAL HUB BL.DISC
WHEEL PIPELINER 4 1/2X1/8X5/8
WHEEL PIPELINER 7X1/8X5/8
WHEEL SOFT ABR 36 GRIT
WHEEL HARD ABR 36 GRIT



ABA54HFX
ABAS4MTX
ABDO78
ABD100
ABD118
ABD138
ABD158
ABD178
ABD238
ABD278
ABD312
ABD318
ABD400
ABD412
ABD500
ABD600
ABPSA6
ABPSA8
AJ3554
AJ3557
AJ3558
AJ3559
AJ3565
AR84300
AR84350
AR84351
AR84352
AR84400
AT25356
AT25357
B
B010002
B0100024
B0100025
B01000255
B010004
B010008
B0324060
B0324F60
B0365060
B0378060
B0581000

BI0O11
BI10020
BS
BS1304
BS13045
BS1306
BS1404
BS1405
BS1504
BS1505
BS1506
BS1508
BS1607
BS1707
BS1708
BS17085
BS1808

WHEEL SOFT ABR 54 GRIT

WHEEL HARD ABR 54 GRIT

BRUSH FLUE 7/8"

BRUSH FLUE DS/DS 1"

BRUSH FLUE DS/DS 1 1/8"

BRUSH FLUE DS/DS 1 3/8"

BRUSH FLUE DS/DS 1 5/8"

BRUSH FLUE DS/DS 1 7/8"

BRUSH FLUE DS/DS 2 3/8"

BRUSH FLUE DS/DS 2 7/8"

BRUSH FLUE DS/DS 3 1/2"

BRUSH FLUE DS/DS 3 1/8"

BRUSH FLUE DS/DS 4"

BRUSH FLUE DS/DS 4 1/2"

BRUSH FLUE DS/DS 5"

BRUSH FLUE DS/DS 6"

DISC SHOULDER REFACING 24 GRIT
DISC SHOULDER REFACING 36 GRIT
JACK HI LIFT

JACK 2 TON FLOOR

JACK 12 TON

JACK 20 TON

DOLLEY TWO WHEEL 700#
REFLECTOR TRIKIT

SIGN PLACARD FLIP W/NUMBERS
SIGN PLACARD FLIP

SIGN PLACARD VINYL DOT 1993
CHOCKS F/TIRES (2) SET

SCALER NEEDLE LEVER THROTTLE
NEEDLES 7" x 19/set F/SCALER
BATTERY

BATTERY GROUP 34-36 DEEP CYCLE
BATTERY CHARGER 225AMP 12/6V
BATTERY TERMINALS H.D.

CABLE BATTERY ASSY F/24 V 3PC
BATTERY 4 D W/STATE FEE
BATTERY 8 D W/STATE FEE

Battery 24-60 Car W/STATE FEE
BATTERY 24 F 60 CAR W/STATE FE
BATTERY 65-60 CAR W/STATE FEE
BATTERY MARINE CRANK W/ST. FEE
BATTERY 78DT-84N COMB. W/FEE

BITS

DRILL BIT SET 17pc1/16"TO 1/2"
GUN RIVET KIT

STUDS

STUD 5/8" X 4" CAD W/NUTS
STUD 5/8" X 4-1/2" CAD W/NUTS
STUD 5/8" X 6" CAD W/NUTS
STUD 3/4" X 5" CAD W/NUT
STUD 3/4" X 6-1/2" CAD W/NUTS
STUD 7/8" X 4-1/2" CAD W/NUTS
STUD 7/8" X 6" CAD W/NUTS
STUD 7/8" X 6-1/2" CAD W/NUTS
STUD 7/8" X 8" CAD W/NUTS
STUD 1" X 7" CAD W/NUTS
STUD 1-1/8" X 7" CAD W/NUTS
STUD 1-1/8" X 8" CAD W/NUT
STUD 1-1/8" X 8-1/2" CAD W/NUT
STUD 1-1/4" X 8" B7 CAD W/NUTS



BS1809
BS1908
BS1909
BS19512
BS2012
BS2214
BSC138118
BSC1381185
BSC138118L
BTG0824

BU

BUOO12
BUO0O16
BUO0032
BUO0048
BUOO64
BUO0070
BUOO72
BZ00101

Cc
Co1007
C01008
C01009
C010095
C01010
C01015
C010155
C01016
C01030
C01031
C01100
C011555
C011557
C03007
C03010
C04020
C04023
C04025
C04026
C04030
C040305
C04031
C040315
C04032
C04035
C04037
C04039
C04045
C04047
C04050
C04095
C04096
C04098
C04099
C040999
C04100
C04110
Co04112
C04114
C04116

STUD 1-1/4" X 9" B7 CAD W/NUTS
STUD 1-3/8" X 9-1/2"CAD W/NUTS
STUD 1-3/8" X11-1/2"CAD W/NUTS
STUD 1-1/2" X 12" CAD W/NUTS
STUD 1-5/8" x12-1/2" CAD W/NUT
STUD 1-7/8" X 14" CAD W/NUTS
STUD COMB 1-3/8"S X 1-1/8"Lx7"
STUD COMB 1-1/8"SX 1-3/8"L x6"
STUD COMB 1-1/8"LX1-3/8"L x9"
TANK BOLT 1/2" X 1-1/2" GALV

U BOLTS

U BOLT F/3/4" PIPE

U BOLT F/1" PIPE

U BOLT 2" X 3/8"

UBOLT 3" X 1/2"

U BOLT 4" X 1/2"

UBOLT 5" X 1/2"

U BOLT 6" X 5/8"

SCREW METAL 8 X 3/4 S.S.
COMPOUNDS & OILS

PINE SOL 1.35 GAL

DAWN DETERGENT GAL
DEGREASER POWER SOL 5000 SPRAY
DEGREASER SCHAEFFER CITROL
RIG WASH 5 GL LIQUID DEGREASER
RIG WASH 55 GAL LIQUID

TRUCK WASH 5 GAL

TRUCK WASH 55 GAL

RIG WASH 50# DRY

RIG WASH 100# CREAM BEADS DRY
SOLVENT 5 GAL PARTS

KEROSENE 55 GAL

KEROSENE 5 GAL.

FLUID CLEAR F/WEIGHT IND.

ANTI FREEZE & COOLANT GALS.
DOPE BESTOLIFE 2000 45#

DOPE BESTOLIFE 72733 50#

DOPE METAL FREE API 18# 338
DOPE LEAD FREE API 20# 747

DOPE TOOL JT. PIPE COMP 30#338
DOPE TOOL JT. PIPE COMP 30#Z18
DOPE API MOD PIPE NO LEAD M/C
DOPE RUN-N-SEAL EXTREME 2GL
DOPE KOPR KOTE 1 GAL

DOPE COPPER GUARD4 NOLEAD 5gal
DOPE PIPE ZN 50 40#

DOPE PIPE ZN 60 35#

COMPOUND 125 KUREX PIPE SEAL 5
DOPE TEFLON TF15 JET LUBE 5GL
GREASE MYSTIK JT6 AERSOL 150z
GREASE STICK BRW F/HP GUN
GREASE STICK BLK F/HP GUN
GREASE HI TEMP 4# PAIL

GREASE REG 140Z TUBE LITHOLUBE
GREASE HITEMP 140ZTUBE LITHIUM
GREASE REG 14 OZ TUBE MYSTIK
GREASE HITEMP 140Z TUBE MYSTIK
GREASE LUBRIPLATE 105 10 OZ
GREASE 35# GREEN PAIL MYSTICK
GREASE 35# PAIL HITEMP MYSTICK



C04116876
C04117
C04119
C04152
C041524
C041525
C041526
C04153
C04154
C041543
C041544
C041545
C04155
C041551
C04250
C04251
C04268
C04269
C042695
C04270
C042702
C042705
C04280
C04285
C04286
c04287
C04291
C04292
C04310
C04316
C04317
C04320
C04322
C043270
C04330
C04335
C04345
C04347
C04348
C04350
C04351
C04360
C04370
C04374
C04375
C04376
C04377
C04381
C04382
C04383
C04385
C043855
C04386
C043865
C04387
C04388
C04389
C04390
C04395
C04398
C04425

GREASE 35# PAIL HITEMP LITHIUM
GREASE 35# PAIL EP2 COASTAL
GREASE VALVE 5 GAL

PVC CEMENT 4 Oz

PVC CEMENT 32 OZ

PVC CLEANER 4 OZ

PVC CLEANER 32 OZ
SEALANT TEFLON THRD. 1 PINT
THRD. LOCK COMPOUND 6 ML
THRD. LOCK COMPOUND 50 ML
ANTI SEIZE RECTOR SEAL #5

ANTI SEIZE REG. 1# LOCTITE ac
ANTI SEIZE REG. 1# BRUSH TOP
ANTI SEIZE SPRAY CAN 12.50z.
SILICONE SEAL CAULK TUBES
CAULK GUN

BELT DRESSING 9 oz.

CHAIN LUBE

DRI MOLLIE SPRAY TITAN

DRI MOLLIE SPRAY

DRI MOLLIE SPRAY JET LUBE
COPPER COAT SPRAY 90z. K&W
MURATIC ACID ONE GAL
TRAILERBRITE ALUM.BRIGHT GL
TRAILERBRITE ALUM.BRIGHT 5GL
SILICONE RTV RED CAULK 11oz.
SILICONE RTV CLEAR SEAL 3 oz.
SILICONE RTV RED HI TEMP 3 oz.
SANITUF SD GRITT HAND CLEANER
JOE'S HAND CLEANER IN A TUBE
JOE'S W/PUMICE IN A TUBE

JOES 4.5# HAND CLEANER W/PUMIC
JOE'S HAND CLEANER 4.5#

GO-JO HAND CLEANER LEMON 4.5#
GO JO HAND CLEANER REG. 4.5#
GOJO SCRUBBING WIPES 80CT
FAST ORANGE HAND CLNR GAL PMCE
FAST ORANGE HAND CLNR 15 OZ.
FAST ORANGE W/ PUMICE 640z.
TOWELS SCRUBS IN A BUCKET
TOWELS BRAWNY IN A BUCKET
OIL PENETRATING WD40 16 oz.

OIL PENETRATING WD40 GAL

OIL PENETRATING SUPER-X MP70
OIL PENETRATING SPRAY SOK

OIL PENETRATING ENGAGE SPRAY
OIL PENETRATING POWER LUBE CRC
LPS DRY MOLY LUBRICANT FORCE
LPS 2 OIL PENETRATING SPRAY
LPS 3 RUST INHIBITOR SPRAY
CORROSION X 16 OZ. PENETRATE
CRC 3-36 INSTANT RUST PROTECT
OIL PENETRATING AEROKROIL 160z
OIL PENETRATING AEROKROIL 130z
OIL PENETRATING KROIL GAL.
CUTTING OIL TAP MAGIC 16 oz.

OIL CUTTING GAL

STARTING FLUID 11 oz.

WASP SPRAY LONG STREAM
INSECT REPELLENT

WEED KILLER CONCENTRATE 2.5GA



C04450
C04451
C04552
C04554
C04560
C050001
C050002
C05124
C05125
C05311
C05314
C05315
C05317
C05319
C05320
C05321
C05325
C05326
C05330
C05331
C05335
C05C0040
C05C1540
C05D0040
C05D1540
C05D15404
C05D15405
CO05E1030
C05K1540
C05M1330
C05M1540
C05M15401
C05Q1030
CH00100
CHo0110
CHO00115
CHO00125
CHO00126
CHO00128
CH00800
CHo00910
CHO01000
CHO100P
CH01500
CH015000
CH02000
E
E00013
E00015
E00017
E00018
E00440
E00450
E00455
E00460
E00800
E00850
E00855
E00882
E00883

OIL DRI OIL ABSORBENT

OIL SPILL OUT-SORBS

OIL HAWG ABSORBANT W/MICRO
GATOR ABSORBANT

WINDSHIELD WASHER FLUID
PAILS 5 GAL W/ LIDS PLASTIC
PAILS 5 GAL W/ LIDS METAL
DEXRON Il ATF QTS.

DEXRON Il ATF MOBIL QTS.

OIL GEAR 80-90 QUART

OIL GEAR 90 WT 5 GAL.

OIL GEAR 80-90 5 GAL

OIL GEAR 85-140 5 GAL

OIL GEAR 90 WT 5 GAL. ROYAL

OIL GEAR 80-90 5 GAL ROYAL

OIL GEAR 85-140 5 GAL ROYAL
DEXRON Il TRANS. FLUID 5 GAL
OIL HYD AW 46 5 GAL.

OIL HYD AW 68 5 GAL

OIL AQUA MARINE32 55 GL DR
UNIVERSAL TRACTOR FLUID 5 GAL.
OIL 40WT CHEVRON DELO 400 QT
OIL 15W 40 CHEVRON DELO 400 QT
OIL MOTOR 40 WT CHEVRON GAL
OIL MTR 15w 40 CHEVRON DELO GL
OIL MTR 40W CHEVRON DELO 5G
OIL MTR 15w 40 CHEVRON DELO 5G
OIL 10W 30 EXXON SERVICFLO QTS
KENDALL SUPER D 3 40W

OIL MTR MOBIL DEL VAC 1630 QT
OIL 15W 40 MOTORCRAFT QTS

OIL 15W 40 MOTORCRAFT 5QT JUG
OIL 10W 30 QUAKERSTATE 12QTS/1
CAGE NIPPLE

CHOKE WRENCH OCT

CHOKE OCT TEE TAPPED 1/2"
STEM LONG TC F/15M# MSI CHOKE
STEM SHORT TC F/MSI CHOKE
CHOKE SEAT 3/4 F.L. T.C.

CLOCK CHART W/HUB

CHARTS 100 X 100 7 DAY

CHARTS 1000 X 100 7 DAY

CHARTS 0-100% 7 DAY

CHARTS 1500 X 100 7 DAY

CHARTS 15,000 4 HR
CHARTS 2000 X 200 24 HR

ELECTRICAL SUPPLIES
GRINDER 4-1/2" ANGLE

FAN 42" ELECTRICAL

SAW 14" CHOP COMPLETE
GENERATOR 5000 WATT
BULBS 60W BR WHITE FLUOR.
BULBS 100 W ROUGH SERVICE
BULBS 500 W QUARTZ

BULBS 4416 12 VOLT

MISC. ELECTRICAL

PLUG MALE F/EXT. CORD
PLUG FEMALE F/EXT. CORD
LIGHT TROUBLE 25'

PLUG STRIPS MULIT OUTLET 6'



E00884 EXT CORDY 3 WAY

E00885 EXTENSION CORD 25' X 16awg
E00890 EXTENSION CORD 50 X 16awg
E00895 EXTENSION CORD 100 X 16awg
E00897 EXTENSION CORD 100 12-3 awg
E00928 LIGHT RED BEACON 120 V
E00929 LIGHT RED STROBE 120 V
E00930 LIGHT AMBER STROBE 12VDC
ESMS1M SWITCHGAGE MURPHY 1000#
F PIPE FITTINGS

F1248 POLYMATE 3" MALE

F13200 NIPPLE STD 2" X AT

F13204 NIPPLE STD 2" X 4"

F13208 NIPPLE STD 2" X 8"

F14800 NIPPLE STD 3" X AT

F14804 NIPPLE STD 3" X 4"

F14806 NIPPLE STD 3" X 6"

F14808 NIPPLE STD 3" X 8"

F14810 NIPPLE STD 3" X 10"

F14812 NIPPLE STD 3" X 12"

F15606 NIPPLE STD 3-1/2" X 6"

F15612 NIPPLE STD 3-1/2" X 12"
F16400 NIPPLE STD 4" X AT

F16404 NIPPLE STD 4" X 4"

F16406 NIPPLE STD 4" X 6"

F16408 NIPPLE STD 4" X 8"

F16410 NIPPLE STD 4" X 10"

F16412 NIPPLE STD 4" X 12"

F19604 NIPPLE STD 6" X 4"

F19608 NIPPLE STD 6" X 6"

F196085 NIPPLE STD 6"x 6" PLASTIC COAT
F19612 NIPPLE STD 6" X 12"

F19806 NIPPLE STD 8" X 6"

F20004 FIT. FS. TEE 2000# 1/4"
F20006 FIT. FS. TEE 2000# 3/8"
F20008 FIT. FS. TEE 2000# 1/2"
F20012 FIT. FS. TEE 2000# 3/4"
F20016 FIT. FS. TEE 2000# 1"

F20020 FIT. FS. TEE 2000# 1-1/4"
F20024 FIT. FS. TEE 2000# 1-1/2"
F20032 FIT. FS. TEE 2000# 2"

F20040 FIT. FS. TEE 2000# 2-1/2" |
F20048 FIT. FS. TEE 2000# 3"

F20064 FIT. FS. TEE 2000# 4"

F20200 NIPPLE XH 1/8" X AT

F20202 NIPPLE XH 1/8" X 2"

F20203 NIPPLE XH 1/8" X 3"

F20204 NIPPLE XH 1/8" X 4"

F20206 NIPPLE XH 1/8" X 6"

F20400 NIPPLE XH 1/4" X AT

F20402 NIPPLE XH 1/4" X 2"

F20403 NIPPLE XH 1/4" X 3"

F20404 NIPPLE XH 1/4" X 4"

F20406 NIPPLE XH 1/4" X 6"

F20412 NIPPLE XH 1/4" X 12"

F20600 NIPPLE XH 3/8" X AT

F20602 NIPPLE XH 3/8" X 2"

F20603 NIPPLE XH 3/8" X 3"

F20604 NIPPLE XH 3/8" X 4"

F20606 NIPPLE XH 3/8" X 6"



F20800
F20802
F20803
F20804
F20806
F20808
F20810
F21200
F21202
F21203
F21204
F21206
F21208
F21600
F21602
F21603
F21604
F21606
F21608
F21610
F21612
F22000
F22003
F22004
F22006
F22008
F22010
F22012
F22400
F22402
F22403
F22404
F22406
F22408
F22410
F22412
F23200
F23203
F23204
F23206
F23208
F23210
F23212
F2324000
F2324003
F2324004
F2324006
F2324008
F2324010
F2324012
F2324800
F2324804
F2324806
F2324808
F2324810
F2324812
F2326400
F2326404
F2326406
F2326408
F2326410

NIPPLE XH 1/2" X AT
NIPPLE XH 1/2" X 2"
NIPPLE XH 1/2" X 3"
NIPPLE XH 1/2" X 4"
NIPPLE XH 1/2" X 6"
NIPPLE XH 1/2" X 8"
NIPPLE XH 1/2" X 10"
NIPPLE XH 3/4" X AT
NIPPLE XH 3/4" X 2"
NIPPLE XH 3/4" X 3"
NIPPLE XH 3/4" X 4"
NIPPLE XH 3/4" X 6"
NIPPLE XH 3/4" X 8"
NIPPLE XH 1" X AT
NIPPLE XH 1" X 2"
NIPPLE XH 1" X 3"
NIPPLE XH 1" X 4"
NIPPLE XH 1" X 6"
NIPPLE XH 1" X 8"
NIPPLE XH 1" X 10"
NIPPLE XH 1" X 12"
NIPPLE XH 1-1/4" X AT
NIPPLE XH 1-1/4" X 3"
NIPPLE XH 1-1/4" X 4"
NIPPLE XH 1-1/4" X 6"
NIPPLE XH 1-1/4" X 8"
NIPPLE XH 1-1/4" X 10"
NIPPLE XH 1-1/4" X 12"
NIPPLE XH 1-1/2" X AT
NIPPLE XH 1-1/2" X 2"
NIPPLE XH 1-1/2" X 3"
NIPPLE XH 1-1/2" X 4"
NIPPLE XH 1-1/2" X 6"
NIPPLE XH 1-1/2" X 8"
NIPPLE XH 1-1/2" X 10"
NIPPLE XH 1-1/2" X 12"
NIPPLE XH 2" X AT
NIPPLE XH 2" X 3"
NIPPLE XH 2" X 4"
NIPPLE XH 2" X 6"
NIPPLE XH 2" X 8"
NIPPLE XH 2" X 10"
NIPPLE XH 2" X 12"
NIPPLE XH 2-1/2" X AT
NIPPLE XH 2-1/2" X 3"
NIPPLE XH 2-1/2" X 4"
NIPPLE XH 2-1/2" X 6"
NIPPLE XH 2-1/2" X 8"
NIPPLE XH 2-1/2" X 10"
NIPPLE XH 2-1/2" X 12"
NIPPLE XH 3" X CL
NIPPLE XH 3" X 4"
NIPPLE XH 3" X 6"
NIPPLE XH 3" X 8"
NIPPLE XH 3" X 10"
NIPPLE XH 3" X 12"
NIPPLE XH 4" X CL
NIPPLE XH 4" X 4"
NIPPLE XH 4" X 6"
NIPPLE XH 4" X 8"
NIPPLE XH 4" X 10"



F2326412
F2330802
F2330803
F2330804
F2330806
F2331603
F2331604
F2331606
F233200
F233204
F233206
F233208
F233210
F233212
F236406
F24516
F24524
F24532
F245321
F29004
F29006
F29008
F29012
F29016
F29020
F29024
F29032
F2903201
F290321
F290324
F29032408
F29032416
F290325
F30016
F30032
F39016
F39032
F39104
F39106
F39108
F39112
F39116
F39120
F39124
F39132
F39208
F39212
F39216
F39224
F39232
F60008
F60016
F60032
F69008
F69016
F69032
F73002
F73004
F73006
F73008
F73012

NIPPLE XH 4" X 12"
NIPPLE XXH 1/2" X 2"
NIPPLE XXH 1/2" X 3"
NIPPLE XXH 1/2" X 4"
NIPPLE XXH 1/2" X 6"
NIPPLE XXH 1" X 3"
NIPPLE XXH 1" X 4"
NIPPLE XXH 1" X 6"
NIPPLE XXH 2" X AT
NIPPLE XXH 2" X 4"
NIPPLE XXH 2" X 6"
NIPPLE XXH 2" X 8"

NIPPLE XXH 2" X 10"
NIPPLE XXH 2" X 12"
NIPPLE XXH 4" X 6"

FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.

FS. 45 ELL 2000# 1"

FS. 45 ELL 2000# 1-1/2"
FS. 45 ELL 2000# 2"

FS. 45 ELL 2000# 3"

FS. 90 ELL 2000# 1/4"

FS. 90 ELL 2000# 3/8"

FS. 90 ELL 2000# 1/2"

FS. 90 ELL 2000# 3/4"

FS. 90 ELL 2000# 1"

FS. 90 ELL 2000# 1-1/4"
FS. 90 ELL 2000# 1-1/2"
FS. 90 ELL 2000# 2"

FS 90 DEG 2-1/2" ELL

FS. 90 ELL 2000" 3"

FS. 90 ELL 2000# 4"

FS. CROSS 2000# 1/2"

FS. CROSS 20004# 1"

FS. CROSS 2000# 2"

FS. TEE 3000# 1"

FS. TEE 3000# 2"

FS. 90 ELL 3000# 1"

FS. 90 ELL 3000# 2"

FS. STR.90 ELL 3000# 1/4"
FS. STR.90 ELL 3000# 3/8"
FS. STR.90 ELL 3000# 1/2"
FS. STR.90 ELL 3000# 3/4"
FS. STR.90 ELL 3000# 1"
FS.STR.90 ELL3000# 1-1/4"
FS.STR.90 ELL3000# 1-1/2"
FS. STR.90 ELL 3000# 2"
FS. HEX UNION 3000# 1/2"
FS. HEX UNION 3000# 3/4"
FS. HEX UNION 3000# 1"
FS. HEX UNION 3000# 1-1/2
FS. HEX UNION 3000# 2"
FS. TEE 6000# 1/2"

FS. TEE 6000# 1"

FS. TEE 6000# 2"

FS. 90 ELL 6000# 1/2"

FS. 90 ELL 6000# 1"

FS. 90 ELL 6000# 2"

FS. CPLG 3000# 1/8"

FS. CPLG 3000# 1/4"

FS. CPLG 3000# 3/8"

FS. CPLG 3000# 1/2"

FS. CPLG 3000# 3/4"



F73016
F73020
F73024
F73032
F73040
F73048
F73064
F76008
F76012
F76016
F76032
F80402
F80604
F80804
F80806
F81204
F81206
F81208
F81604
F81606
F81608
F81612
F82008
F82016
F82406
F82408
F82416
F82420
F83204
F83208
F83212
F83216
F83220
F83224
F84832
F86432
F86448
F93002
F93004
F93006
F93008
F93012
F93016
F93020
F93024
F93032
F93034
F960110
F960112
Fo60114
F960116
F960118
F960120
FO960250A
F960255
FO60550A
F960550B
F971104
F971508
F971510
F971515

FIT. FS. CPLG 3000# 1"

FIT. FS. CPLG 3000# 1-1/4"

FIT. FS. CPLG 3000# 1-1/2"

FIT. FS. CPLG 3000# 2"

FIT. FS. CPLG 3000# 2-1/2"

FIT. FS. CPLG 3000# 3"

FIT. FS. CPLG 3000# 4"

FIT. FS. CPLG 6000# 1/2"

FIT. FS. CPLG 6000# 3/4"

FIT. FS. CPLG 6000# 1"

FIT. FS. CPLG 6000# 2"
BUSHING FS HEX 1/4" X 1/8"
BUSHING FS HEX 3/8" X 1/4"
BUSHING FS HEX 1/2" X 1/4"
BUSHING FS HEX 1/2" X 3/8"
BUSHING FS HEX 3/4" X 1/4"
BUSHING FS HEX 3/4" X 3/8"
BUSHING FS HEX 3/4" X 1/2"
BUSHING FS HEX 1" X 1/4"
BUSHING FS HEX 1" X 3/8"
BUSHING FS HEX 1" X 1/2"
BUSHING FS HEX 1" X 3/4"
BUSHING FS HEX 1-1/4" X 1/2"
BUSHING FS HEX 1-1/4" X 1"
BUSHING FS 1-1/2" X 3/8"
BUSHING FS 1-1/2" X 1/2"
BUSHING FS HEX 1-1/2" X 1"
BUSHING FS HEX 1-1/2" X 1-1/4"
BUSHING FS HEX 2" X 1/4"
BUSHING FS HEX 2" X 1/2"
BUSHING FS HEX 2" X 3/4"
BUSHING FS HEX 2" X 1"
BUSHING FS HEX 2" X 1-1/4"
BUSHING FS HEX 2" X 1-1/2"
BUSHING FS HEX 3" X 2"
BUSHING FS HEX 4" X 2"
BUSHING FS HEX 4" X 3"

FIT. FS. PLUG 1/8"

FIT. FS. PLUG 1/4"

FIT. FS. PLUG 3/8"

FIT. FS. PLUG 1/2"

FIT. FS. PLUG 3/4"

FIT. FS. PLUG 1"

FIT. FS. PLUG 1-1/4"

FIT. FS. PLUG 1-1/2"

FIT. FS. PLUG 2"

FIT. FS. PLUG 4"
THERMOWELL 1/2" X 1/2" X 2.5"
THERMOWELL 1/2" X 1/2" X 4"
THERMOWELL 1/2" X 1/2" X 6"
THERMOWELL 3/4" X 1/2" X 2.5"
THERMOWELL 3/4" X 1/2" X 4"
THERMOWELL 3/4" X 1/2" X 6"
THERMOMETER 500 DEG X 4" STEM
THERMOMETER 550 DEG X 2-1/2"ST
THERMOMETER 550 DEG X 4" STEM
THERMOMETER 550 DEG X 6" STEM
ADAPTER TYPE M X 1/4"NPT ADAPT
AUTO CLAVE 9/16" H.P.X 1/2"FNP
NIPPLE AUTO CLAVE 9/16"
VALVE AUTO CLAVE 15M# 9/16"



F9901508 FIT. NPT 90 ELL 1/2" 15,000#

FB BLK. MI. FITTINGS
FB0002 FIT. MI. BLK. TEE 1/8"
FB0004 FIT. Ml. BLK. TEE 1/4"
FB0006 FIT. MI. BLK. TEE 3/8"
FB0O008 FIT. MIl. BLK. TEE 1/2"
FB0O12 FIT. MI. BLK. TEE 3/4"
FBOO16 FIT. MI. BLK. TEE 1"
FB0020 FIT. MI. BLK. TEE 1 1/4"
FB0024 FIT. MI. BLK. TEE 1 1/2"
FB0032 FIT. MI. BLK. TEE 2"

FB0048 FIT. Ml. BLK. TEE 3"

FB0064 FIT. MI. BLK. TEE 4"

FB0096 FIT. Ml. BLK. TEE 6"

FB0098 FIT. MI. BLK. TEE 8"

FB4502 FIT. MI. BLK. 45 ELL 1/8"
FB4504 FIT. MI. BLK. 45 ELL 1/4"
FB4506 FIT. MI. BLK. 45 ELL 3/8"
FB4508 FIT. MI. BLK. 45 ELL 1/2"
FB4512 FIT. MI. BLK. 45 ELL 3/4"
FB4516 FIT. MI. BLK. 45 ELL. 1"
FB4520 FIT. MIl. BLK. 45 ELL 1 1/4"
FB4524 FIT. MI. BLK. 45 ELL 1 1/2"
FB4532 FIT. MI. BLK. 45 ELL 2"
FB4548 FIT. MI. BLK. 45 ELL 3"
FB4564 FIT. MI. BLK. 45 ELL 4"
FB7308 CPLG BLK 1/2"

FB7312 CPLG BLK 3/4"

FB7316 CPLG BLK 1"

FB7320 CPLG BLK 1 1/4"

FB7324 CPLG BLK 1 1/2"

FB7332 CPLG BLK 2"

FB7348 CPLG BLK 3"

FB7356 CPLG BLK 3-1/2"

FB7364 CPLG BLK 4"

FB7380 CPLG BLK 5"

FB7396 CPLG BLK 6"

FB81612 BUSHING BLK 1" X 3/4"
FB82012 BUSHING BLK 1-1/4" X 3/4"
FB82416 BUSHING BLK 1-1/2" X 1"
FB82420 BUSHING BLK 1-1/2" X 1-1/4"
FB83204 BUSHING BLK 2" X 1/4"
FB83208 BUSHING BLK 2" X 1/2"
FB83212 BUSHING BLK 2" X 3/4"
FB83216 BUSHING BLK 2" X 1"
FB83224 BUSHING BLK 2" X 1-1/2"
FB84832 BUSHING BLK 3" X 2"
FB85648 BUSHING BLK 3-1/2" X 3"
FB86432 BUSHING BLK 4" X 2"
FB86448 BUSHING BLK 4" X 3"
FB88064 BUSHING BLK 5" X 4"
FB89664 BUSHING BLK 6" X 4"
FB89680 BUSHING BLK 6" X 5"
FB8B0604 REDUCER BELL BLK 3/8" X 1/4"
FB8B0806 REDUCER BELL BLK 1/2" X 3/8"
FB8B4832 REDUCER BELL BLK 3" X 2"
FB8B6432 REDUCER BELL BLK 4" X 2"
FB8B6448 REDUCER BELL BLK 4" X 3"
FB9002 FIT. MI. BLK. 90 ELL 1/8"

FB9004 FIT. MI. BLK. 90 ELL 1/4"



FB9006
FB9008
FB9012
FB9016
FB9020
FB9024
FB9032
FB9048
FB9056
FB9064
FB9080
FB9096
FB9102
FB9104
FB9106
FB9108
FB9112
FB9116
FB9120
FB9124
FB9132
FB9148
FB9164
FB9308
FB9312
FB9316
FB93164
FB93165
FB9320
FB9324
FB9332
FB9348
FB9364
FB93641
FB9396
FB9464
FDS212
FDS412
FG8302
FG8304
FG8306
FG8308
FG8312
FG8316
FG8320
FG8324
FG8332
FG8348
FG8364
FG8396
FG8398
F124508
FIB1428
FIB2
FIB7
FIB95
FIB99
FIBOOIMPG
FIBT251
FIBT292
FIBT8471MPG

FIT. MI. BLK. 90 ELL 3/8"

FIT. MI. BLK. 90 ELL 1/2"

FIT. MI. BLK. 90 ELL 3/4"

FIT. MI. BLK. 90 ELL 1"

FIT. MI. BLK. 90 ELL 1 1/4"
FIT. MI. BLK. 90 ELL 1 1/2"
FIT. MI. BLK. 90 ELL 2"

FIT. MIl. BLK. 90 ELL 3"

FIT. MI. BLK. 90 ELL 3 1/2"
FIT. MI. BLK. 90 ELL 4"

FIT. MI. BLK. 90 ELL 5"

FIT. MI. BLK. 90 ELL 6"

FIT. MI. BLK. STR. 90 ELL 1/8"
FIT. MI. BLK. STR. 90 ELL 1/4"
FIT. MI. BLK. STR. 90 ELL 3/8"
FIT. MI. BLK. STR. 90 ELL 1/2"
FIT. MI. BLK. STR. 90 ELL 3/4"
FIT. MI. BLK. STR. 90 ELL 1"
FIT. MI. BLK.STR.90 ELL 1 1/4"
FIT. MI. BLK. STR.90 ELL1 1/2"
FIT. MI. BLK. STR. 90 ELL 2"
FIT. MI. BLK. STR. 90 ELL 3"
FIT. MI. BLK. STR. 90 ELL 4"
FIT. MI. BLK. PLUG 1/2"

FIT. MI. BLK. PLUG 3/4"

FIT. MI. BLK. PLUG 1"

FIT PLUG PVC 3/4"

FIT. PVC PLUG 1"

FIT. MI. BLK. PLUG 1 1/4"

FIT. MI. BLK. PLUG 1 1/2"

FIT. MI. BLK. PLUG 2"

FIT. MI. BLK. PLUG 3"

FIT. MI. BLK. PLUG 4"

FIT. MI. BLK. BAR PLUG 4"
FIT. MI. BLK. PLUG 6"
CROSS BLK Ml 4"

DRESSER SLEEVE 2" X 12"
DRESSER SLEEVE 4" X 12"
FIT. CAP 1/8"

FIT. CAP 1/4"

FIT. CAP 3/8"

FIT. CAP 1/2"

FIT. CAP 3/4"

FIT. CAP 1"

FIT. CAP 1-1/4"

FIT. CAP 1-1/2"

FIT. CAP 2"

FIT. CAP 3"

FIT. CAP 4"

FIT. CAP 6"

FIT. CAP 8"

FIT. MI. BLK. 45 ELL 1/2" |
FILTER B 1428

FILTERB 2

FILTER B7

FILTER B95

FILTER B99

FILTER B 99-MPG

FILTER BT 251

FILTER BT 292
FILTER BT 8471 MPG



FIBT8840MPG
FIBT8851MPG
FIBT8903
FIF1645DS
FIP7003
FIP7012
FIPA1620S
FIPA1629S
FIPA1765
FIPA1790
FIPA1795
FIPA2384
FIPA2653
FIPA2653FOAM
FIPA3633
FIPA3633FOAM
FIPT670
FIPT707HD
FIPT7332
FIPT8363
FIPT88HD
FIPT9181
FIRS3502
FIRS3503
FIRS3504
FIRS3505
FIRS3506
FIRS3536
FIRS3537
FIV16560
FV03206
FV04806
FV06406
FV08006
FV09606
FV09806
Fv132
FV148
FV164
FV180
FV196
FV198
Fva24
Fva32
Fv248
FVv264
Fva280
FV296
Fv298
FY60012

G

G000014
G000023SS
G000024
G000027
G000031
G000035
G000037
G000039
G000045

FILTERBT8840-MPG

FILTER BT8851-MPG

FILTER BT 8903

FILTER F 1645 DS

FILTER P 7003

FILTER P 7012

FILTER PA1620-S

FILTER PA 1629-S

FILTER PA 1765

FILTER PA 1790

FILTER PA 1795

FILTER PA 2384

FILTER PA 2653

FILTER PA 2653 FOAM

FILTER PA 3633

FILTER PA 3633 FOAM

FILTER PT 670

FILTER PT 707-HD

FILTER PT 7332

FILTER PT 8363

FILTER HYD PT88 -HD

FILTER PT 9181

FILTER RS 3502

FILTER RS 3503

FILTER RS 3504

FILTER RS 3505

FILTER RS 3506

FILTER RS 3536

FILTER RS 3537

FILTER V 1656-0

2" X 6" GROOVE X THRD VICT NIP
3" X 6" GROOVE X THRD VICT NIP
4" X 6" GROOVE X THRD VICT NIP
5" X 6" GROOVE X THRD VICT NIP
6" X 6" GROOVE X THRD VICT NIP
8" X 6" GROOVE X THRD VICT NIP
2" VICTAULIC STYLE 77 CLAMP

3" VICTAULIC STYLE 77 CLAMP

4" VICTAULIC STYLE 77 CLAMP

5" VICTAULIC STYLE 77 CLAMP

6" VICTAULIC STYLE 77 CLAMP

8" VICTAULIC STYLE 77 CLAMP
1-1/2" VICTAULIC STYLE RUBBER
2" VICTAULIC STYLE RUBBER

3" VICTAULIC STYLE RUBBER

4" VICTAULIC STYLE RUBBER

5" VICTAULIC STYLE RUBBER

6" VICTAULIC STYLE RUBBER

8" VICTAULIC STYLE RUBBER
STRAINER Y 600# 3/4" THRD

GASKETS & GUAGES
GASKET RING R 14 CS
GASKET RING R 23 SS
GASKET RING R 24
GASKET RING R 27
GASKET RING R 31
GASKET RING R 35
GASKET RING R 37
GASKET RING R 39
GASKET RING R 45 CAD



G000046
G000049
G000053
G000054
G000095
G004546
G00BX151
G0oBX152
G00BX153
G00BX154
G00BX155
G00BX156
G00BX157
G00BX158
G00BX159
G00BX160
G0ooBX162
G00BX169
GOORR45
GOORR4546
GOORX024
GOORX027
GOORX035
GOORX039
GOORX045
GOORX046
GOORX049
GOORX050
GOORX053
GOORX054
GOORX057
GOORX065
GOORX066
GOORX073
GOORX074
G010BX155
G010BX159
G010BX160
G010BX162
G010RX039
GO010RX049
G010RX054
GO10RX057
GO10RX073
GO10RX074
G02505
G02508
G02510
G02512
G02514
G02515
G02516
G02605
G02606
G0265
G02652
G02653
G02655
G02659
G02660
G026604

GASKET RING R 46

GASKET RING R 49

GASKET RING R 53

GASKET RING R 54

GASKET RING R 95

GASKET RING R 45/46 COMB
GASKET RING BX 151 CAD
GASKET RING BX 152

GASKET RING BX 153 CAD
GASKET RING BX 154

GASKET RING BX 155

GASKET RING BX 156

GASKET RING BX 157 CAD
GASKET RING BX 158

GASKET RING BX 159

GASKET RING BX 160

GASKET RING BX 162

GASKET RING BX 169

GASKET RING R 45 PETROMEX
GASKET RING R45/46 PETROMEX
GASKET RING RX 24

GASKET RING RX 27

GASKET RING RX 35

GASKET RING RX 39

GASKET RING RX 45

GASKET RING RX 46

GASKET RING RX 49

GASKET RING RX 50

GASKET RING RX 53

GASKET RING RX 54

GASKET RING RX 57

GASKET RING RX 65

GASKET RING RX 66

GASKET RING RX 73

GASKET RING RX 74

GASKET RING BX 155D
GASKET RING BX 159 D
GASKET RING BX 160 D
GASKET RING BX 162 D
GASKET RING RX 39D
GASKET RING RX 49 D
GASKET RING RX 54 D
GASKET RING RX 57D
GASKET RING RX 73D
GASKET RING RX 74D

TANK STRAPPING 2" MATERIAL
GSKT BLK NPRN 1/2" x1/2" x 12'
GSKT BLK NPRN 5/8" x5/8" x 12'
GSKT BLK NPRN 3/4" X3/4" X 12'
GASKET MATERIAL NON ASB 1/16
GSKT RED RUBBER MATL. 1/8"X4"'
GASKET RED RUBBER 1/4" X 4'
ORING KIT #70 BUNA

ORING KIT VITON90d
PACKING 1/8" GRAPHITE
PACKING 1/4" GRAPHITE
PACKING 3/8" GRAPHITE
PACKING 1/2" GRAPHITE

PKG. 1-7/8" TEFLON CENT PUMP
PKG. 2-1/2" TEFLON CENT PUMP
PKG 1-1/8" KING CENT MUD SER



G026605
G026606
G02732
G02753
G532000001
G53200001
G53200002
G5320001
G5320002
G53200025
G5320003
G5320006
G532001
G5320015
G532002
G532003
G53200305
G53200310
G533030
G533160
(533283030
G5332830305
G5333000
G5335000
G540200
G540300
G540600
G541000
G541500
G542000
G543000
G545000
G546000
G5460001
G54710000
G54715000
GF02150
GF021500
GF03150
GF04150
GF0415300
GF0416600
GF0424600
GF042600
GF042600S
GF043599
GF043600
GF04600
GF04600S
GF04900
GF05150
GF06150
GF06600
GF06600S
GF06900
GF08150
GF08600
GF08600S
GF10600
GF10600S
GFFNO02

PKG. 1-7/8" KING CENT MUD SER
PKG. 2-1/2" KING CENT MUD SER.
WASHPIPE PKG F/32GA KING SWIVE
WASHPIPE PKG F/53GA KING SWIVE
GUAGE PRESSURE 100# 1/8" 1.5"F
GAUGE PRESSURE 30# LF 2.5"FACE
GAUGE PRESSURE 60# LF 2.5"FACE
GAUGE PRESSURE 100#LF 2.5"FACE
GAUGE PRESSURE 160#LF 2.5"FACE
GAUGE PRESSURE 200#LF 2.5"FACE
GAUGE PRESSURE 300#LF 2.5"FACE
GAUGE PRESSURE 600#LF 2.5"FACE
GAUGE PRESSURE 1000#LF 2.5"FAC
GAUGE PRESSURE 1500#LF 2.5"FAC
GAUGE PRESSURE 2000#LF 2.5"FAC
GAUGE PRESSURE 3000#LF 2.5"FAC
GUAGE PRESSURE 5,000 2.5 FACE
GAUGE PRESSURE 10,000#LF 2.5"
GAUGE PRES. CENTER BK 30# 1/8"
GAUGE PRES. CENTER BK 160 1/8"
GAUGE PRES. 30 X 30 LF 2.5"FAC
GAUGE PRES. 30 X 30 LF 4 FACE
GAUGE PRES. CENTER BK 3M# 1/4"
GAUGE PRES. CENTER BK 5M# 1/4"
GAUGE PRESSURE 200# 4" FACE
GAUGE PRESSURE 300# 4" FACE
GAUGE PRESSURE 600# 4" FACE
GAUGE PRESSURE 1000# 4" FACE
GAUGE PRESSURE 1500# 4" FACE
GAUGE PRESSURE 2000# 4" FACE
GAUGE PRESSURE 3000# 4" FACE
GAUGE PRESSURE 5000# 4" FACE
GAUGE PRESSURE 6000# 4" FACE
GAUGE PRESSURE 6M LF SS 4"FACE
GAUGE PRESSURE 10,000 4" FACE
GAUGE PRESSURE 15,000# 4" FACE
GASKET FLEX 150 2"

GASKET FLEX 900-1500 2"

GASKET FLEX 150 3"

GASKET FLEX 150 4"

GASKET FLEX 300 4"

GASKET FLEX 1" 600

GASKET FLEX 600 1-1/2"

GASKET FLEX 3/600 2"

GASKET FLEX 3/600 2" SS INNER
GASKET FLEX 600 2-1/2"

GASKET FLEX 3/600 3"

GASKET FLEX 600 4"

GASKET FLEX 4" 600 SS INNER Rl
GASKET FLEX 900 4"

GASKET FLEX 150 5"

GASKET FLEX 150 6"

GASKET FLEX 600 6"

GASKET FLEX 600 6" SS INNER Rl
GASKET FLEX 900 6"

GASKET FLEX 150 8"

GASKET FLEX 600 8"

GASKET FLEX 600 8" SS INNER Rl
GASKET FLEX 600 10"

GASKET FLEX 600 10"SS INNER RI
GASKET FULL FACE NEOPR 150 2"



GFFNO3 GASKET FULL FACE NEOPR 150 3"

GFFNO04 GASKET FULL FACE NEOPR 150 4"
GFFNO05 GASKET FULL FACE NEOPR 150 5"
GFFNO06 GASKET FULL FACE NEOPR 150 6"
GFFNAOQ2 GASKET NON ASB 150 2"

GFFNAO3 GASKET NON ASB 150 3"

GFFNAO4 GASKET NON ASB 150 4"

GFFNAO6 GASKET NON ASB 150 6"

GFFNAO8 GASKET NON ASB 150 8"

GFFNA10 GASKET NON ASB 150 10"
GFFNA12 GASKET NON ASB 150 12"
GFFNA20 GASKET NON ASB 150 20#
GFFNBO06 GASKET NON ASB 600 6"

GFIL4600 INSULATION KIT 4" 600

GP02000 GAUGE PROCESS LF 2000# S.S.
GP05000 GAUGE PROCESS LF 5000# S.S.
GP10000 GAUGE PROCESS LF 10,000# S.S.
GP15000 GAUGE PROCESS LF 15M#

H HOSE & FITTINGS

H000100 HOSE 5/8" X 50' GARDEN

H00100 HOSE 5/8" X 100' GARDEN

HO00101 HOSE 3/8" X 50" AIR MxM
H00101532 HOSE 2" BLUE LAY FLAT
H00101548 HOSE 3" BLUE LAY FLAT
H00101564 HOSE 4" BLUE LAY FLAT
H00101596 HOSE 6" BLUE LAY FLAT
H00101598 HOSE 2" MILL

H001015987 HOSE 4" MILL

H00104 HOSE #4 PUSH ON 1/4"

H00106 HOSE #6 PUSH ON 3/8"

H00108 HOSE #8 PUSH ON

HO00110 HOSE 3/4"X400' RED PVC A& W
H00112 HOSE 3/4" RED RUBBER OIL
HO00114 HOSE 3/4" RED RUBBER AIR & WAT
H00115 HOSE 1" RED RUBBER 1108082 AIR
HO00116 HOSE 1"RED RUBBER 0528087 FUE
H00120 HOSE 1-1/4" RED RUBBER A & W
HO00121 HOSE 1-1/2" RED RUBBER A & W
H00224 HOSE 1-1/2"S & D

H00232 HOSE 2" SUCTION & DISCHARGE
H00240 HOSE 2.5" SUCTION & DISCHARGE
H00248 HOSE 3" SUCTION & DISCHARGE
H00264 HOSE 4" SUCTION & DISCHARGE
H00280 HOSE 5" SUCTION & DISCHARGE
H00291 HOSE 6" SUCTION & DISCHARGE
H002914 HOSE 8"X 4' FRAC HOSE W/MALE
H002915 HOSE 8"x4' ACID FRAC END 4 CLA
H00292 HOSE 2" X 20' MUD M X F BRASS
H00293 HOSE 3" X 20' MUD M X F BRASS
H00294 HOSE 4" X 20' MUD M X F BRASS
H00348 HOSE 3" HOT AIR BLOWER
H0034864 HOSE 4" H.D.LAY FLAT CEMENT
H00389 WATER HOSE END REPAIR SET (2)
H003895 NOZZEL WATER HOSE 1"

H003897 NOZZEL FOG 1-1/2" NPT

HO00390 NOZZEL WATER HOSE BRASS ADJUST
H00391 NOZZEL WATER HOSE PISTOL GRIP
H00392 WATER HOSE "Y"

H00394 CLEAR HOSE 1/2" ID X 3/4" OD

H00396 FIT. HOSE 3/4"FGHC X 3/4" FNPT



H00397 FIT. HOSE 3/4"MGHC X 1/2" FNPT

H00398 FIT. HOSE 3/4"MGHC X 3/4" FNPT
H00500 SINGLE WIRE HOSE

H00532 HOSE 2" SINGLE WIRE

H00600 DOUBLE WIRE HOSE

H00602 HOSE 3/8" X 50' PRES WASH 275F
H006025 HOSE 3/8"X 100' PRES WASH 275F
H00604 HOSE 1/4" DOUBLE WIRE HYD.
H00606 HOSE 3/8" DOUBLE WIRE HYD.
H00608 HOSE 1/2" DOUBLE WIRE HYD.
H00612 HOSE 3/4" DOUBLE WIRE HYD.
H00616 HOSE 1" DOUBLE WIRE HYD.
H00620 HOSE 1-1/4" DOUBLE WIRE HYD.
H00624 HOSE 1-1/2" DOUBLE WIRE
H006516 HOSE 1"R 17 HYD

H00700 HOSE 4 WIRE

H00712 HOSE 3/4" 4 WIRE HYD.
H00716 HOSE 1" 4 WIRE HYD.

H00720 HOSE 1-1/4"100 R 12 4 WIRE
H00732 HOSE 2" 4 SH HYD.

H010032 CAMLOCK 2" 90 DEG. MXF ALUM.
HO010112 CAMLOCK 3/4" A SS

HO010116 CAMLOCK 1" A SS

H010212 CAMLOCK 3/4" B SS

H010216 CAMLOCK 1" B SS

HO010312 CAMLOCK 3/4" C SS

H010316 CAMLOCK 1" C SS

H010412 CAMLOCK 3/4" D SS

HO010416 CAMLOCK 1" D SS

HO010512 CAMLOCK 3/4" E SS

HO010516 CAMLOCK 1" E SS

HO010612 CAMLOCK 3/4" F SS

H010616 CAMLOCK 1" F SS

HO1112 CAMLOCK 3/4" A ALUM
HO01116 CAMLOCK 1" A ALUM

HO1124 CAMLOCK 1-1/2" A ALUM
H01132 CAMLOCK 2" A ALUM

HO01148 CAMLOCK 3" A ALUM

HO1164 CAMLOCK 4" A ALUM

HO01196 CAMLOCK 6" A ALUM

HO01212 CAMLOCK 3/4" B ALUM

HO01216 CAMLOCK 1" B ALUM

HO01224 CAMLOCK 1-1/2" B ALUM.
HO01232 CAMLOCK 2" B ALUM

H01248 CAMLOCK 3" B ALUM

HO01264 CAMLOCK 4" B ALUM

HO01312 CAMLOCK 3/4" C ALUM

HO01316 CAMLOCK 1" C ALUM

H01324 CAMLOCK 1-1/2" C ALUM
H01332 CAMLOCK 2" C ALUM

H01348 CAMLOCK 3" C ALUM

HO01364 CAMLOCK 4" C ALUM

H01396 CAMLOCK 6" C ALUM

HO1412 CAMLOCK 3/4" D ALUM

HO01416 CAMLOCK 1" D ALUM

HO01424 CAMLOCK 1-1/2" D ALUM
H01432 CAMLOCK 2" D ALUM

HO01448 CAMLOCK 3" D ALUM

HO1464 CAMLOCK 4" D ALUM

HO01496 CAMLOCK 6" D ALUM

HO01512 CAMLOCK 3/4" E ALUM



HO01516
HO01524
H01532
HO01548
HO01564
HO01596
HO01612
HO01616
HO01624
HO01632
H01648
HO1664
HO1724
HO01732
HO01748
HO1764
HO01796
HO01824
H01832
H01848
HO01864
H02132
H02148
H02164
H02180
H02196
H02232
H02248
H02264
H02332
H02348
H02364
H02432
H02448
H02464
H02480
H02496
H02532
H02548
H02564
H02632
H02648
H02664
H02732
H02748
H02764
H02780
H02832
H02848
H02864
H02865
H02866
H028663
H02870
H02871
H02873
H02874
H02912030
H0292030DA
H0293020CRED
H0293020DA

CAMLOCK 1" E ALUM

CAMLOCK 1-1/2" E ALUM
CAMLOCK 2" E ALUM
CAMLOCK 3" E ALUM
CAMLOCK 4" E ALUM
CAMLOCK 6" E ALUM
CAMLOCK 3/4" F ALUM
CAMLOCK 1" F ALUM

CAMLOCK 1-1/2" F ALUM
CAMLOCK 2" F ALUM
CAMLOCK 3" F ALUM
CAMLOCK 4" F ALUM

CAMLOCK 1-1/2" ALUM DUST CAP
CAMLOCK 2" ALUM DUST CAP
CAMLOCK 3" ALUM DUST CAP
CAMLOCK 4" ALUM DUST CAP
CAMLOCK 6" ALUM DUST CAP
CAMLOCK 1-1/2" ALUM DUST PLUG
CAMLOCK 2" ALUM DUST PLUG
CAMLOCK 3" ALUM DUST PLUG
CAMLOCK 4" ALUM DUST PLUG
CAMLOCK 2" A BRASS
CAMLOCK 3" A BRASS
CAMLOCK 4" A BRASS
CAMLOCK 5" A BRASS
CAMLOCK 6" A BRASS
CAMLOCK 2" B BRASS
CAMLOCK 3" B BRASS
CAMLOCK 4" B BRASS

CAMLOCK 2" C BRASS
CAMLOCK 3" C BRASS
CAMLOCK 4" C BRASS
CAMLOCK 2" D BRASS
CAMLOCK 3" D BRASS
CAMLOCK 4" D BRASS
CAMLOCK 5" D BRASS
CAMLOCK 6" D BRASS
CAMLOCK 2" E BRASS
CAMLOCK 3" E BRASS
CAMLOCK 4" E BRASS
CAMLOCK 2" F BRASS
CAMLOCK 3" F BRASS
CAMLOCK 4" F BRASS
CAMLOCK 2" BRASS DUST CAP
CAMLOCK 3" BRASS DUST CAP
CAMLOCK 4" BRASS DUST CAP
CAMLOCK 5" BRASS DUST CAP
CAMLOCK 2" BRASS DUST PLUG
CAMLOCK 3" BRASS DUST PLUG
CAMLOCK 4" BRASS DUST PLUG
CAMLOCK 1-1/2"DBL A SPOOL ADAP
CAMLOCK 2" DBL A SPOOL ADAPT
CAMLOCK 2"X3" DBL A SPOOL ADPT
CAMLOCK 1-1/2" DBLE D COUPLING
CAMLOCK 2" DOUBLE D COUPLING
CAMLOCK 3" DOUBLE D COUPLING
CAMLOCK 4" DOUBLE D COUPLING
CAMLOCK 2"A X 3"NPT ALUM ADAPT
CAMLOCK 2" D X 3" A ALUM ADAPT
CAMLOCK 3" X 2" ALUM C REDUCER
CAMLOCK 3" D X 2" A ALUM ADAPT



H0293040BR
H0293040DA
H0294030CRED
H0294030DA
H0296040DA
H03004
H03006
H03008
H03012
H03020
H03028
H03036
H03037
H03038
H03040
H03050
H03053
H03055
H03065
H03075
H03077
H03080
H03081
H03082
H03084
H03085
H03086
H03088
H03090
H03100
H03110
H03120
H03125
H031255
H03130
H03140
H03255
H03260
H03270
H03280
H03285
H03287
H03288
H032892
H0328925
H032894
H032895
H03290
H032905
H03291
H032915
H03292
H03293
H03294
H04008
H04009
H04010
H04011
H04012
H04013
H04808

CAM. 3" Dx 4" MNPT ALUM ADAPT
CAMLOCK 3" D X 4" A ALUM ADAPT
CAMLOCK 4" X 3" ALUM C REDUCER
CAMLOCK 4" D X 3" A ALUM ADAPT
CAMLOCK 6" D X 4" A ALUM ADAPT
CLAMP # 4 WORM GEAR HOSE 1/4"
CLAMP # 6 WORM GEAR HOSE 3/8"
CLAMP #8-10 WORM GEAR HOSE 1/2
CLAMP #12 WORM GEAR HOSE 3/4"
CLAMP 20WORM GEAR HOSE 1-1/4"
CLAMP #28 WORM GEAR HOSE
CLAMP #36-40 WORM GEAR
CLAMP #48 WORM GEAR HOSE 3"
CLAMP #56 WORM GEAR HOSE
CLAMP #72 WORM GEAR HOSE 3"-5"
CLAMP #104 WORMGEAR HOSE 5"-7"
CLAMP PREFORM HOSE F/1" HOSE
CLAMP PREFORM HOSE F/2" HOSE
CLAMP PREFORM HOSE F/3" HOSE
CLAMP PREFORM HOSE F/4" HOSE
CLAMP PREFORM HOSE F/6" HOSE
CLAMP DBL BOLT HOSE #49 1 1/2"
CLAMP DBL BOLT HOSE 2" #76
CLAMP DBL BOLT HOSE 3" #400
CLAMP DBL BOLT HOSE 4" #525
CLAMP DBL BOLT HOSE 5" #600
CLAMP DBL BOLT HOSE 6" #675
CLAMP DBL BOLT HOSE 8" #875
GASKET F/KAMLOCK CPLG 1"
GASKET F/ KAMLOCK CPLG. 2"
GASKET F/ KAMLOCK CPLG. 3"
GASKET F/ KAMLOCK CPLG. 4"
GASKET F/KAMLOCK CPLG. 6"
GASKET 3" X THICK KAMLOCK
HANDLES & PINS 2" F/KAMLOCK
HANDLE & PIN 3-4 KAMLOCK
BANDING BUCKLES 5/8"

BANDING BUCKLES 1/2"

BANDING MATERIAL 5/8"

BANDING MATERIAL 1/2"

BANDING TOOL

TOOL CENTER PUNCH T0001
CROWFOOT 1" "Y" 3 WAY

CLAMP 1/2" F/CROWFOOT

CLAMP 1" F/CROWFOOT
CROWFOOT 1/2" W/HOSE SHANK
CROWFOOT 3/4" W/HOSE SHANK
CROWFEET 1" W/ HOSE SHANK
CROWFOOT 3/4" FEMALE
CROWFOOT 1" FEMALE
CROWFOOT 1" MALE
CROWFEET RUBBER UNIVERSAL
WHIP CHECK 1/4" X 18"

WHIP CHECK 1/4" X 38"

AIR CPLG. 1/2"

PLUG MALE F/AIR CPLG. 1/2"

PLUG FEMALE F/AIR CPLG. 1/2"
AIR CPLG. 1/4"

PLUG FEMALE F/711 CPLG 1/4"
PLUG MALE F/ 711 CPLG 1/4"
NIPPLE 1/2" PLATED KC



H04812
H04816
H04820
H04824
H04832
H04840
H04848
H04864
H04880
H04896
H04898
H0489912
H0489916
H0489932
H0489948
H0489964
H04992
H04993
H049932
H049933
H049934
H049935
H049936
H08005
H08010
H08015
H08030
H08035
H08037
H08039
H08040
H08050
H08060
H08065
H08069
H08070
H08080
H08410408
H08421212
H085100S212
H085100S216
H085100S220
H085100S512
H085100S516
H085100S520
H08560104
H08560106
H08560108
H08560112
H08560116
H08560204
H08560206
H08560208
H08560212
H08560216
H08560316
H0856038
H2
H204U102
H204U104
H204U106

NIPPLE 3/4" PLATED KC
NIPPLE 1" PLATED KC

NIPPLE PLATED KC 1-1/4"

NIPPLE PLATED KC 1-1/2"

NIPPLE PLATED KC 2"

NIPPLE PLATED KC 2-1/2"

NIPPLE PLATED KC 3"

NIPPLE PLATED KC 4"

NIPPLE PLATED KC 5"

NIPPLE PLATED KC 6"

NIPPLE PLATED KC 8"
MENDOR 3/4" HOSE
MENDOR 1" HOSE
MENDOR 2" HOSE
MENDOR 3" HOSE
MENDOR 4" HOSE

STRAINER SUCTION 2"

STRAINER SUCTION 3"

VALVE FOOT 2"

VALVE FOOT 3"

VALVE FOOT 4"

SEAL F/3"FOOT VALVE

SEAL F/4 FOOT VALVE

FITTING HOSE 1/2" JIC X 1/2"PO
FITTING HOSE 3/8" JIC X 3/8"PO
FITTING HOSE 3/8"SAE X 3/8" PO
FITTING HOSE 1/4" JIC X 1/4"PO
FITTING HOSE 1/2"POx 1/2" MNPT
FITTING HOSE 1/2"POx 3/8" MNPT
FITTING HOSE 3/8"POx 1/2" MNPT
FITTING HOSE 3/8"POx 3/8" MNPT
FITTING HOSE 3/8"POx 1/4" MNPT
FITTING HOSE 1/4"POx 1/4" MNPT
FITTING HOSE 1/4"POx 3/8" MNPT
HOSE SPLICERS 1/2" X 1/2" PO
HOSE SPLICERS 3/8" X 3/8" PO
HOSE SPLICERS 1/4" X 1/4" PO
1/4" PT X 1/2" HOSE NYLON FIT.
3/4"PT X 3/4" 90 DEG NYLON FIT
PLUG 3/4" THRD F/HYD WING CPLG
PLUG 1" THRD. F/HYD. WING CPLG
PLUG 1-1/4"THRD. F/HYD WING CP
WING HALF 3/4" F/HYD WING CPLG
WING HALF 1" F/HYD. WING CPLG
WING HALF 1-1/4" F/HYD WING CP
COUPLER 1/4" HYD.QUICK FM
COUPLER 3/8" HYD.QUICK FM
COUPLER 1/2" HYD.QUICK FM
COUPLER 3/4" HYD.QUICK FM
COUPLER 1" HYD. QUICK FM ONLY
PLUG 1/4" HYD.QUICK CPLG.ONLY
PLUG 3/8" HYD.QUICK CPLG

PLUG 1/2" HYD.QUICK CPLG.
PLUG 3/4" HYD.QUICK CPLG.
PLUG 1" HYD. QUICK CPLG.
SEALS F/1" HYD QUICK CPLG.
QUICK CONNECT 3/8" F/STEAM HOS
SINGLE & DOUBLE CRIMP ON FIT.
FIT.CRIMP 1/8"MALE x 1/4" HOSE
FIT.CRIMP 1/4"MALE x 1/4" HOSE
FIT.CRIMP 3/8"MALE x 1/4" HOSE



H204U604
H204U606
H206U104
H206U106
H206U107
H206U1071
H206U108
H206U604
H206U606
H206U608
H208U106
H208U108
H208U608
H208U610
H208U612
H210U112
H210U610
H212U108
H212U1085
H212U112
H212U116
H212U610
H212U612
H216U112
H216U116
H216U1165
H216U616
H243016E116
H243016E616
H243020E120
H243020E133
H243020E1334
H243020E1335
H243032E132
H243032E133
H243032E137
H2C52050402
H2C52050404
H2C52050406
H2C52050604
H2C52050606
H2C52050608
H2C52050806
H2C52050808
H2C52050812
H2C52051008
H2C52051012
H2C52051208
H2C52051212
H2C52051216
H2C52051612
H2C52051616
H2C52052016
H2C52052020
H2C52052424
H2C52053224
H2C52053232
H2C53050404
H2C53050606
H2C53050808
H2C53051010

FIT.CRIMP 1/4"FEMALE x1/4 HOSE
FIT.CRIMP 3/8"FEMALE x1/4"HOSE
FIT.CRIMP 1/4"MALE X 3/8" HOSE
FIT.CRIMP 3/8"MALE x 3/8" HOSE
FIT.CRIMP 3/8"SWIVEL M X 3/8"
FIT.CRIMP 3/8"SAE FEMALE X 3/8
FIT.CRIMP 1/2"MALE X 3/8" HOSE
FIT.CRIMP 1/4"FEMALE x3/8"HOSE
FIT.CRIMP 3/8"FEMALE X3/8"HOSE
FIT.CRIMP 1/2" JIC 3/8" HOSE
FIT.CRIMP 3/8"MALE x1/2" HOSE
FIT.CRIMP 1/2"MALE X1/2" HOSE
FIT.CRIMP 1/2"FEMALE x1/2"HOSE
FIT.CRIMP 5/8"FEMALE x1/2"HOSE
FIT.CRIMP 3/4"FEMALE x1/2"HOSE
FIT.CRIMP 3/4"MALE x 1/2" HOSE
FIT. CRIMP 5/8"MALE JIC X 1/2"
FIT.CRIMP 1/2"MALE x 3/4" HOSE
FIT.CRIMP 1/2 FEMALE X3/4 HOSE
FIT.CRIMP 3/4"MALE x3/4" HOSE
FIT. CRIMP 1" MALE X 3/4" HOSE
FIT.CRIMP 5/8"FEMALE x3/4"HOSE
FIT.CRIMP 3/4"FEMALE x3/4"HOSE
FIT. CRIMP 3/4" MALE X 1"HOSE
FIT. CRIMP 1"MALE X 1" HOSE
FIT. CRIMP 1"FEMALE X 3/4"HOSE
FIT. CRIMP 1"FEMALE X 1" HOSE
FIT.CRIMP 1" M ON 4 WIRE X1"JJ
FIT. CRIMP 1" F ON 4 WIRE X 1"
FIT. CRIMP 1-1/4" MALE 4 WIRE
FIT. CRIMP 1-1/4" FEMALE 4WIRE
FIT. CRIMP 1-1/2" MALE 4SH

FIT. CRIMP 1-1/2" FEMALE 4SH
FIT. CRIMP 2"MALE HOSE x 2" 4W
FIT. CRIMP 2" FEMALE F/4 WIRE
FITT.2" JIC REUSEABLE SW CLOTH
ADAPTER 1/4" X 1/8" JIC X PT
ADAPTER 1/4" X 1/4" JIC X PT
ADAPTER 1/4" X 3/8" JIC X PT
ADAPTER 3/8" X 1/4" JIC X PT
ADAPTER 3/8" X 3/8" JIC X PT
ADAPTER 3/8" X 1/2" JIC X PT
ADAPTER 1/2" X 3/8" JIC X PT
ADAPTER 1/2" X 1/2" JIC X PT
ADAPTER 1/2" X 3/4" JIC X PT
ADAPTER 5/8" X 1/2" JIC X PT
ADAPTER 5/8" X 3/4" JIC X PT
ADAPTER 3/4" X 1/2" JIC X PT
ADAPTER 3/4" X 3/4" JIC X PT
ADAPTER 3/4" X 1" JIC X PT
ADAPTER 1" X 3/4" JIC X PT
ADAPTER 1" X 1" JIC X PT
ADAPTER 1-1/4" X 1" JIC X PT
ADPT 1-1/4" X 1-1/4" JIC X PT
ADPT 1-1/2" X 1-1/2" JIC X PT
ADPT 2" X 1-1/2" JIC X PT STR
ADAPTER 2" X 2" JIC X PT

UNION MALE JIC 1/4" X 1/4"
UNION MALE JIC 3/8" X 3/8"
UNION MALE JIC 1/2" X 1/2"
UNION MALE JIC 5/8" X 5/8"



H2C53051212
H2C53051616
H2C5305161602
H2C5305161604
H2C53051616045
H2C5305161606
H2C5305161608
H2C5305161612
H2C5305161616
H2C53051616808
H2C53051616812
H2C53051616816
H2C53051616908
H2C53051616912
H2C53051616916
H2C54050402
H2C54050404
H2C540504041
H2C54050406
H2C54050604
H2C54050606
H2C54050608
H2C54050806
H2C54050808
H2C54050812
H2C54051008
H2C54051208
H2C54051212
H2C54051216
H2C54051612
H2C54051616
H2C54052020

|

100040

100041

100042

1000427

100043

100045

100047

100049

100050

100060

100142

100144

100146

100148

100150

100160

100200

100208

100210

100220

100255

100257

100260

100261

100265

100266

1002665

UNION MALE JIC 3/4" X 3/4"
UNION MALE JIC 1" X 1"

NIPPLE HEX 1/8"

NIPPLE HEX 1/4"

NIPPLE HEX 1/4" X 1/8"

NIPPLE HEX 3/8"

NIPPLE HEX 1/2"

NIPPLE HEX 3/4"

NIPPLE HEX 1"

ADPT 1/2" NPT M X F SWIVEL STR
ADPT 3/4" NPT M X F SWIVEL STR
ADPT 1" NPT M X F SWIVEL STR
ADPT 1/2" NPT F X M SWIVEL 90D
ADPT 3/4" NPT F X M SWIVEL 90D
ADPT 1" NPT M X F SWIVEL 90DG
ADAPTER 1/4" JIC X 1/8" PT 90
ADAPTER 1/4" JIC X PT 90 DEG
ADAPTER 1/4" JIC X 1/4"PT 45DG
ADPT 1/4" JIC X 3/8" PT 90 DEG
ADPT 3/8" X 1/4" JICXPT 90 DEG
ADAPTER 3/8" JIC X PT 90 DEG
ADPT 3/8"JIC X 1/2" PT 90 DEG
ADAPTER 1/2"X 3/8" JICxPT 90 D
ADAPTER 1/2" JIC X PT 90 DEG
ADPT 1/2" X 3/4" JICXPT 90 DEG
ADPT 5/8" X 1/2" JIC X PT 90 D
ADPT3/4" X 1/2"JIC X PT 90 DEG
ADAPTER 3/4" JIC X PT 90 DEG
ADPT 3/4" X 1" JIC X PT 90 DEG
ADAP 1" X 3/4" JIC X PT 90 DEG
ADAPTER 1" JIC X PT 90 DEG
ADAPTER 1-1/4" JIC X PT 90 DEG

INSERTS

TONG DIES 3/8" X 1" X 3-7/8"
TONG DIES 1/2" X 1-1/4"X5 7/8"
TONG DIES 1/2" X 1-1/4" X 5"
TONG DIES 5/8"x1-1/4" x 5-7/8"
INSERTS 1" MYT

INSERTS 1-1/4" MYT 29258
INSERTS 1-1/2" MYT 29257
INSERTS 2-1/16" MYT

INSERTS 2-3/8" RED STAR MYT
INSERTS 2-7/8" RED STAR MYT
INSERTS 1" GUIBERSON

INSERTS 1-1/4" GUIBERSON
INSERTS 1-1/2" GUIBERSON
INSERTS 2-1/16" GUIBERSON
INSERTS 2-3/8"F/GUIBERSON SLIP
INSERTS 2-7/8"F/GUIBERSON SLIP
INSERT 2-3/8"DIAMOND DIES F/58
INSERTS 2-1/16" F/FOSTER 58
INSERTS 1-1/4"-1-1/2" F/FOSTER
INSERTS PIN CAVIN 3/8"x6 1/2"
SCREWS REG.INSERT F/FOSTER 58
SCREWS LONG INSERT F/FOSTER 58
NYLON DRAG PLUGS F/F58 TONG
NYLON DRAG PLUGS SHORT
DRAG SPRING F/F58 TONG

DRAG SPRING SHORT

DRAG PLUG SET SCREWS 1 X 1/2



100267
1002674
1002675
1002677
1002678
1002679
100268
100269
100289
100331
100332
100334
100336
100337
100338
100378
1003835
100403
100407
100408
100420
100525
1007010
1007020
1007030
1007040
1008030
J05000
J05005
J050057
J05010
J05011
J05030
J05031
J05035
J06000
J06350
J06351
J06352
M
MO00000
M00010
M00020
M00038
M000385
M00040
M00042
M00043
M000445
M00045
M00046
M000465
MO00050
M00062
MO00063
M00075
M00080
M00090
M00100
M00101

DRAG PLUG SET SCREWS 1 X 1
DRAG RING PIN F/FOSTER 58
BUSHING F/BACK UP PINS

PINS BACKUP F/FOSTER 58
JAWS BACKUP 1-1/4-2-1/16 F/F58
JAWS BACKUP 2-3/8" F/FOSTER 58
JAW ONLY 2-3/8" F/FOSTER TONG
JAW 1-1/4"-1-1/2" F/FOSTER TON
DIE 3-1/2" - 4-1/2" FOSTER
INSERTS 1-1/4" F/CAVIN B SLIPS
INSERTS 1-1/4" F/CAVIN C SLIPS
INSERTS 2-3/8" F/CAVIN B SLIPS
INSERTS 2-7/8" F/CAVIN B SLIPS
INSERT 2-1/6" CAVIN C (4) SET
INSERTS 2-3/8" CAVIN C 4/SET
INSERTS 2-7/8" CAVIN C 4/SET
INSERTS 3-1/2" CAVIN C 4/SET
INSERTS 2-3/8" CAVIN C NON DIR
INSERTS 2-7/8" CAVIN C NON DIR
INSERTS 3-1/2" CAVIN C NON DIR
INSERTS 2-3/8" TOP LOAD CAVINS
INSERTS 2-7/8 TOP LOAD CAVINS
KIT AIR CYL. REPAIR F/BJ 50T

KIT AIR CLY. REPAIR F/GUIBERSO
KIT LIFT CYL. REPAIR F/FOSTER
KIT AIR REPAIR F/CAVIN SLIPS
SPRING 9561 F/TONG C

TUBING COUPLINGS

CPLG. 1-1/4" NUE 10RD. J 55
CPLG. 1-1/2" EUE 8RD J 55 TBG.
CPLGS. 2-3/8" 8rd. J 55 TUBING
CPLG. 2-7/8" 8rd. J 55 TUBING
CPLGS. 2-3/8" 8rd. N/L TUBING
CPLGS. 2-7/8" 8rd. N/L TUBING
CPLGS.COMBO 2-3/8" X 2-7/8"EUE
TUBING SWAGES,NIPPLES,& PLUGS
UNION SEAL F/2-3/8" AB CPLGS.
UNION SEAL F/2-7/8" AB CPLGS
UNION SEAL 3-1/2" EUE

MISC. RIG SUPPLIES

MISC SUPPIES

UMBRELLA

MAILBOX RURAL

SCRAPER RAZOR BLADE STYLE
BLADES F/SCRAPER

UTILITY KNIFE

BLADES F/UTILITY KNIFE

BOX AMMO

MACHETE 22"

TORPEDO LEVEL W/MAGNET
LEVEL 24" METAL

LEVEL 48" BOXED

HACKSAW BLADES

HACKSAW FRAME H.D.

HACKSAW FRAME #10 NICHOLSON
LOCKS #5 LARGE MASTER KEYED
LOCKS #3 MASTER

LOCKS #1 MASTER KEYED

LOCKS SHORT SHANK COMBINATION
LOCKS LONG SHANK COMBINATION



M001013
M001015
M00130
M001301
M001305
M0013055
MO00131
M00132
MO00133
M00140
MO00144
M00145
M00147
M00148
M00149
M001495
M0014958
M001496
M001497
M001498
M00150
M00152
M00159
M00160
M001605
M001606
M00161
M00162
M00164
M00165
M001657
M0016575
M001658
M0016585
M001659
M0016595
M00174
M00175
M00179
M00180
M001801
M00181
M001815
M001816L
M001816M
M001816S
M001818
M00182
M00183
M00185
M00187
M00190
M00195
M00196
M001964
M001965
M001966
M0019664
M0019665
M001967
M0019675

LOCKS LONG SHANKED COMB.MASTER
LOCKS LONG SHANKED KEYED
BABBIT #4 COMMON

NAILS 60 PENNY HANDFULL

ORING PIC

ORING PIC SET

PACKING HOOK #1

PACKING HOOK #2

PACKING HOOK #3

SCRAPERS PAINT LETONIA

TIE WIRE STAINLESS STEEL

TIE WIRE MECHANICS

BUNGE CORD W/DBL HOOK

BUNGE CORD W/DBL HOOK x 31"

TIE DOWN 1-1/2" X 15" RATCHET

TIE DOWN 2"x27 RATCHET STYLE
TARPS 8' X 10'

TIE DOWN 2"x 27 ROLL UP

TIE DOWN 4"X 27" RATCHET STYLE
STRAP ONLY 4" X 27'

TARPS 16'X 12'

TARPS 23 X 11.4

GREASE GUN PISTOL GRIP

GREASE GUN LEVER TYPE

GREASE GUN LINCOLN PIST.W/HOSE
GREASE GUN LINCOLN LEVER &HOSE
GREASE GUN HOSE ONLY

GREASE GUN HEAD ONLY

GREASE GUN HYD. W/HOSE & GUAGE
GREASE GUN HI PRESSURE W/HOSES
GREASE GUN BUTTON HEAD LG CPLG
GREASE GUN BUTTON HEAD SM CPLG
SWIVEL SMALL F/HP GREASE GUN
SWIVEL LARGE F/HP GREASE GUN
HOSE SMALL F/H.P. GREASE GUN
HOSE LARGE F/HP GREASE GUN
TANK AIR 7 GAL.

AIR CHUCK DUAL HEAD S 690

AIR GAUGE S 976

AIR GUAGE S927

BLOW GUN 24"

BLO GUN MILTON

GUAGE TIRE W/HOSE

PIN DIAPER SAFETY - LARGE

PIN DIAPER SAFETY - MEDIUM

PIN DIAPER SAFETY - SMALL

PIN HAIR ASSORTMENT

PIN COTTER ASST LARGE

GREASE FITTING ASSORTMENT
GREASE ZERT#70 1/8" NPT STR.
GREASE ZERT #72 1/8" NPT 90DEG
GREASE ZERT STR. #62 1/4" NPT
GREASE ZERT STR#73 1/4"SAETHRD
GREASE ZERT 1/4"SAE THR 90 DEG
GREASE ZERT 1/4" SAE X 1-5/8"
GREASE ZERT BUTTON HEAD 1/4"
GREASE ZERT BUTTON HEAD 3/8"
GREASE ZERT BUTTON HEAD 1/2"
GREASE FITTING BUTTON TYP MSI
GREASE VENT CAP

GREASE ADAPTER F/VENT CAP



M00199
M00203
M00204
M00205
M00206
M00207
M00210
M00221
M00223
M00224
M00255
M00260
M00265
M00267
M00316
M00336
M00340
M00341
M00345
M00346
MO00350
M00352
M00360
M00373
M00374
M003789
M003790
M003791
M003793
M003794
MO00390
M00396
M00397
M00398
MO00399
M00400
M00401
M00402
M00403
M00404
M00405
M00406
M004065
M00407
M004075
M00408
M00410
M00411
M00414
M00416
M00417
M00418
M00419
M00421
M00422
M00424
M00435
M00440
M00450
M00460
M00461

GERONIMO ESCAPE SEAT
HARNESS FULL BODY LEWIS LG*REG
HARNESS FULL BODY LEWIS XXL
HARNESS FULL BODY

HARNESS FULL BODY SALA MED*LG
HARNESS FULL BODY SALA XLG
BELT DERRICK

ROPE TRIPLE TAIL X 10'DBL HOOK
LANYARD W/D RING & SH ABSORBER
LANYARD W/SH ABSORBER 6'

TIE WRAPS 7" 100/BUNDLE

TIE WRAPS 14" 100/BUNDLE

TIE WRAPS WIDE 14" 100/BUNDLE
TIE WRAPS WIDE 24" 50/BUNDLE
HANDLE HAMMER LG HEAD 16"
HANDLE HAMMER 36"

PENS TEX YELLOW

PENS TEX WHITE

MARKER FELT TIP WHITE
MARKER FELT TIP YELLOW
PAINTSTICKS MARKAL B YELLOW
PAINTSTICKS MARKAL B WHITE
SPRAY APPLICATOR 32 0Z
SPRAYER PLASTIC PUMP 2.5 GAL
SPRAYER PLASTIC PUMP 2 GAL
GLOVES RUBBER SANDY 14"
GLOVES SURGICAL VINYL
GLOVES RUBBER WRIST CUT 14"
GLOVES RUBBER 18"

GLOVES NITRISOLV 15MIL
GLOVES BLACK DOT ITA

GLOVES ORANGE BLACK DOT DBLPLM
GLOVES GREEN BLACK DOT
GLOVES RED LINE COTTON
GLOVES ORANGE BLACK DOT
GLOVES ORANGE DOT USA
GLOVES LEATHER MULE

GLOVE DBL PALM BLACK DOT KNIT
GLOVES WELDING

GLOVES LEATHER DRIVING
GLOVES KEVLAR CUT RESISTANT
GLOVE IMPACT HI VIS.

GLOVES SARCO IMPACT

NUTS 2" PLUMMERS W/GASKET
ADAPTER 2" MALE F/SIGHT GLASS
SIGHT GLASS 1-1/2" OD 1/4" TH
SIGHT GLASS 2" OD 1/4"THICK
SIGHT GLASS 2-3/8" OD X 1/4"
FLOAT BALL 4" S.S.

FLOAT BALL 6" S.S.

FLOAT SEAT 3" BLUE NITRILE
FLOAT SEAT 3" BUNA

FLOAT SEAT 4" BUNA

VALVE RELIEF 1-1/2"

VALVE RELIEF 2"

WINGNUT ASSY 5" F/TANK HATCH
SHOVEL SHARPSHOOTER
SHOVEL SQUARE

SHOVEL ROUND

RAKE GARDEN

RAKE LEAF



M00463
M00464
M00480
M00547
M00548
M005482
M005493
M0054935
M005494
M005495
MO00550
M00560
M00565
M00568
MO00573
M005735
M005737
M00574
M005780
M005785
M005790
M00580
MO00590
M0059601
M0059602
M00597
M00598
M00599
M005995
M00600
M00601
M00603
M006033PC
M00604
M006045
M00605
M00606
M00621
M00622
M00625
MO00635
M00637
M00649
M00650
M00660
M00672
M00677
M00680
M00687
M0068715
M0068717
M0068720
M0068723
M0068725
M0068727
M00688
MO00690
M00695
M00698
M00700
M00702

MATTOCK HEAD W/HANDLE

HANDLE ONLY F/PICK MATTOCK
SQUEEGE 24" W/ HANDLE

EAR PLUGS 200 PER BOX

EAR PLUGS W/STRING

TOWELETTE WIPES F/GLASSES
HOLDER STRAP F/SAFETY GLASSES
BANDANA W/COOL GEL

GLASSES SAFETY 4 X 4 MIRRORED
GLASSES SAFETY STARLITE
GLASSES SAFETY BIFOCAL CLEAR
GLASSES SAFETY BIFOCAL DARK
SAFETY GLASSES MIRRORED HAWK
GLASSES SAFETY CONQUERER CAMO
GLASSES SAFETY CLEAR UVEX
GLASSES SAFETY DARK UVEX PATRT
GLASSES SAFETY UVEX H.D.
LENSES UVEX SAFETY ONLY
GLASSES SAFETY EDGE

GLASSES SAFETY EDGE POLARIZED
GLASSES SAFETY EDGE KHOR KIT
GLASSES SAFETY RUBICON-FIRE
GLASSES SAFETY RUBICON-EMERALD
GOGGLES SAFETY W/SPLASH GUARD
GOGGLES SAFETY ANTI FOG W/ SPL
FACE SHIELDS W/LENSE

LENSE ONLY F/ FACE SHIELD

FACE SHIELD & BRKT F/HARD HAT
LENSE F/HARD HAT MOUNT FACE SH
PARTICLE DUST MASKS SINGEL B
RESPIRATOR PARTICLE MASK DBL B
RAINCOAT F. RETARDANT RIDER
RAINSUIT F.RETARDANT RIDER 3PC
RAINCOAT LONG 60" RIDER
RAINCOAT LONG 60" RIDER XXXL
RAINCOAT 2 PIECE

RAINCOAT 2 PIECE 5 XL

RAINSUIT 3 PIECE

RAINSUIT 3 PIECE 4 & 5 XL

RAINSUIT CHEMICAL GREEN 45ML
BOOTS STEEL TOE RUBBER

APRON CHEMICAL

LID F/MUD SCALE

MUD CUP

MUD FUNNEL

MUD SCALE METAL

SILVER NITRATE SOLUTION 80z 01
CONES SAFETY 18"

CONES SAFETY 30"

FIRE EXTINGUISHER 3#

FIRE EXTINGUISHER 5#

FIRE EXTINGUISHER 20# ABC
BRACKET F/2.5# FIRE EXT.

BRACKET F/5# FIRE EXT.

BRACKET F/20# FIRE EXT.

FIRST AID KIT 10 UNIT

FIRST AID KIT 25 UNIT

FLASHLIGHT 3 CELL YELLOW
FLASHLIGHT 3 CELL D ALUMINUM
FLASHLIGHT 2 CELL D EXPL.PROOF
BULB PR6 F/EXP PROOF FLASHLITE



MO00717
M00718
MO00742
M00743
M00760
M00765
M00767
M00768
M00769
M00770
MO01000
M01044
MO01045
M01110
MO1111
MO1114
M01124
M01125
M01138
M01139
MO01145
M01147
MO01148
M01150
M01152
M01155
M01157
M01159
MO01165
M01166
M01168
M011705
M011710
M011720
M011730
M011740
M011760
M011780
M011790
M01185
M01189
M01190
M011901
M011902
M011903
M01200
M01250
M01316
M01332
M01348
MO01396
M0139648
MO0139696
M02000
M02010
M020105
M02011
M02012
M02020
M02030
M02040

CAP LIGHT LED

LANTERN FLOATING ONLY
BATTERY 6 VOLT SPRING TOP IND
BATTERY 6 VOLT SPRING TOP ALK.
BATTERY SIZE C ALKALINE
BATTERY SIZE D ALKALINE
BATTERY AA ALKALINE

BATTERY AAA ALKALINE
BATTERY 9 VOLT ALKALINE
BATTERY AA LITHIUM

BRUSHES

BRUSH SCRUB HARD

BRUSH SCRUB SOFT

BRUSH TRUCK WASH W/HANDLE
BRUSH GARAGE FLOOR 18"
BROOM DECK 10" W/HANDLE
BROOM DECK 24" W/ HANDLE
BROOM SOFT FLOOR 24" W/ HANDLE
BROOM HANDLE METAL THRD
BRACKET METAL F/DECK BROOM
BROOM STRAW

MOP ON A STICK 24 OZ.

MOP BUCKET W/WRINGER
BROOM WHISK

MATS COCA 22 X 36

EMERY CLOTH 2 X 50 FINE 320G
EMERY CLOTH 2 X 50 MED. 180G
EMERY CLOTH 2 X 50 CORSE 100G
PLASTIC 6 ML 20 X 100

TRASH BAGS PLASTIC F/55 GAL DR
SHRINK WRAP 18" X 1500'
SCREEN WIRE 36" X 100' ROLL
SHAKER SCREEN 4 X 5 10 MESH
SHAKER SCREEN 4 X 5 20 MESH
SHAKER SCREEN 4 X 5 30 MESH
SHAKER SCREEN 4 X 5 40 MESH
SHAKER SCREEN 4 X 5 60 MESH
SHAKER SCREEN 4 X 5 80 MESH
SHAKER SCREEN 4x6 40 BAROID
BLADES CHOP SAW 14" METAL
BRUSH WIRE 4S

BRUSH WIRE EC - 4S

BRUSH WIRE S.S.

BRUSH WIRE S.S.TOOTHBRUSH STYL
BRUSH MUSTACHE DOPE

BRUSH DOPE W/ GUARD 2"
BRUSH DOPE W/ GUARD 2-1/2"
BRUSH PAINT 1"

BRUSH PAINT 2"

BRUSH PAINT 3"

BRUSH PAINT4"

BRUSH PAINT H.D. 3"

BRUSH PAINT H.D. 4"

COOLERS

ICE CHEST 48 QT.

ICE CHEST 70 QT.

ICE CHEST 120 QT

ICE CHEST 150 QT

WATER CAN 2 GAL

WATER CAN 3 GAL

WATER CAN 5 GAL



M02050
M02060
M020602
M020603
M020605
M02061
M02062
M020625
M02063
M02065
M020650
M020651
M020652
M020653
M020654
M02085
M02087
M02088
MO03000
M03010
M03020
M03022
M03040
M03050
MO03060
M03070
MO03072
M04000
M04010
M04011
M04020
M04025
M04030
M04066
M04067
M04073
M04085
M04095
M04097
M04119
M04120
M04125
M04130
M04199
M04200
M04300
M04400
M05000
M05005
M05010
MO05011
M05104
M05107
M05108
M051085
M05112
M05116
M05125
M06000
M06003
M06005

WATER CAN 7 GAL

WATER CAN 10 GAL

WATER CAN 10 GAL IGLOO

SPIGOT F/WATER COOLER

LID SCREW ON F/3 GAL COOLER

LID SCREW ON F/5 GAL COOLER

LID SCREW ON F/10 GAL COOLER
LID PUSH ON F/10 GAL COOLER
WATER CAN HOLDER 3,5 OR 10 GAL
GATORADE VARIETY PACKS 2.5GAL
GATORADE CONCENTRATE- LEM.LIME
GATORADE CONCENTRATE- ORGE
GATORADE CONCENTRATE- FR.PNCH
Q BLAST LIQUID DRINK (24/CS)
GATORADE LIQUID BOTTLE

SOLO CUP DISPENSERS

WATER BOTTLE (CASE)

WATER 5 GAL JUG

HARD HATS

HAT HARD FULL BRIM

HAT HARD CAP TYPE

HAT HARD BUMP CAP STYLE

RAK - HARD HATS

HARD HAT WINTER LINER
SUSPENSION RATCHET F/HARD HAT
SUSPENSION F/ V GUARD HARD HAT
SUSPENSION RATCHET F/METAL HAT
RAGS

RAGS IN A BOX

RAGS IN A BUCKET

TOWELS WHITE TURKISH 10#
TOWELS WHITE TURKISH 25#

RAGS LADY COTTON PANT 10#
TOWELS COLORED TURKISH 10#
TOWELS COLORED TURKISH 25#
TOWELS BLUE SURGICAL 10#
TOWELS BLUE SHOP ROLL
TOWELS PAPER KITCHEN ROLL
TOWELS PAPER ROLL SHOP BROWN
UNIVERSAL SPILL PADS GRAY (C)
OIL SPILL PADS 3/8" X 100 CT.

OIL SPILL ROLL 30" X 150'x 3/8

OIL BOOM 8" X 10" 4 PER BUNDLE
POLLUTION CONTAINER PCC 301 3"
POLLUTION CONTAINER PCC 301 4"
FILTERS 75 MICRON F/SWD

FILTERS 75 MICRON GLYCOL

ROPE

SASH CORD #10 5/16"X1200" SPL
SASH CORD #10

SASH CORD #12

ROPE 1/4" MANILLA X 600'

ROPE MANILLA 3/8" X 600'

ROPE MANILLA 1/2" X 600'

ROPE MANILLA 1/2" PER FOOT
ROPE MANILLA 3/4" PER FOOT
ROPE MANILLA 1" PER FOOT
CATLINE 1-1/4" X 125' 4 STRAND
RUBBER GOODS

TONG PULL BACK RUBBER

KELLY WIPER 4-1/4"HEX x 10"



M06008 SEALS MUD BUCKET 3-1/2" W/BOLT

M06009 PIPE WIPER 9" X 1" OR 1-1/4"
M06011 PIPE WIPER 9" X 1-1/2"

M06012 PIPE WIPER 9" X 2-3/8"

M060125 PIPE WIPER 9" X 2-7/8"

M06013 PIPE WIPER 17" SINGLE

M06015 PIPE WIPER 19" SINGLE

M06017 PIPE WIPER 19" DUAL RED
M06018 PIPE WIPER 19" DUAL BLACK
M06020 SWAB CUPS 2-3/8" UHL

M06025 SWAB CUPS 2-1/2" UHL

M06026 SWAB CUPS 2-1/2" 7.9#

M06027 SWAB CUPS 2-1/2" 8.7#

MO06030 SWAB CUPS 2-3/8" WIRE

M06031 SWAB CUPS 2-7/8" WIRE

MO06035 SWAB CUPS 2-3/8" UMT SAND
M06036 SWAB CUPS 2-7/8" UMT SAND
M06037 SWAB CUP 2-3/8" UML MED. LOAD
M06038 SWAB CUPS 2-7/8" UML MED. LOAD
M06040 OIL SAVER RUBBERS

M06042 JACK SCREW HOUSING ASSY. COMPL
M06044 STRIPPER RUBBER HALL 1-1/4"
M06045 STRIPPER RUBBER HALL 1-1/2"
M06046 STRIPPER RUBBER HALL 2-1/16"
M06050 STRIPPER RUBBER HALL 2"
M06055 STRIPPER RUBBER HALL 2-1/2"
M06057 STRIPPER RUBBER HALL 3-1/2"
M06060 STRIPPRE RUBBER PETRO 2-3/8"
M06065 STRIPPER RUBBER PETRO 2-7/8"
M06067 STRIPPER RUBBER JU 2-3/8"
M06069 STRIPPER RUBBERS JU 2-7/8"
M06071 STRIPER RUB OCT STUD 2-3/8"
M06073 RUB 2-7/8" OCT STUDED STRIPPER
M06075 BOP RUBBER GUIBERSON BLIND
M06076 BOP RUBBER GUIBERSON 2-3/8"
M06077 BOP RUBBER GUIBERSON 2-7/8"
M060774 BOP DOOR GASKETS

M060775 BOP RUBBER DRAGON TOP SEALS
M06078 BOP BOP DRAGON BLIND
M06079 BOP RUBBER DRAGON 2-3/8
M06081 BOP RUBBER DRAGON 2-7/8
M06083 BOP RUBBER 2-3/8" LWS61 3-5M
M06084 BOP RUBBER 2-7/8" LWS61 3-5M
M06700 ROD CPLG 5/8"F X 3/4"F COMB
M06705 ROD CPLG 3/4"F X 7/8"F COMB
M06707 ROD CPLG 5/8"P X 3/4"F COMB
M06708 ROD CPLG. 3/4"

M07000 TAPE

M070002 TAPE PIPE WRAP 2"

M070004 TAPE PIPE WRAP 4"

M070005 TAPE PIPE WRAP 3M 2"

M070006 TAPE PIPE WRAP 3M 4"

M070007 PRIMER F/PIPE TAPE 3M

M070009 PIPE COATING 5 GAL TNEMEC
M0700095 PIPE COATING 5 GAL BITUMASTIC
M07003 TAPE TEFLON 1/2" x 520

M07004 TAPE TEFLON 3/4" X 520

M07005 TAPE TEFLON 1" X 520

M07070 TAPE FLAGGING COLORED
M070705 TAPE REFLECTOR 2" X 150'

M07075 TAPE CAUTION 3"



M07077 TAPE DANGER 3"

M07080 TAPE ELECTRICAL 3/4"

MO07085 TAPE ELECTRICAL SUPER33 3M 3/4
M07090 TAPE ELECTRICAL BLACK 3M 3/4"
M07091 TAPE ELECTRICAL WHITE 3M 3/4"
M07092 TAPE ELECTRICAL GREEN 3M 3/4"
M07093 TAPE ELECTRICAL RED 3M 3/4"
M07094 TAPE ELECTRICAL ORANGE 3M 3/4"
MO07106 TAPE FILAMENT 1"

M071065 TAPE EXHAUST INSULATION 4 X100
M07107 TAPE MASKIN 1"

M07110 TAPE MASKIN 2"

MO07130 TAPE DUCT 2"

M07135 TAPE 2" ANTI SKID FLOOR

M07137 TAPE 4" ANTI SKID FLOOR

M07200 FLAGGING NYLON F/SWAB LINES
M07500 TAPE MEASURES

M07510 TAPE DERRICK COMPLETE100' USA
MO07511 TAPE DERRICK COMPLETE100' LUFK
M07520 TAPE DERRICK REFILL 100" USA
M07521 TAPE DERRICK REFILL 100'LUFKIN
M07528 TAPE GAGING COMPLETE 33'LUFKIN
MO07530 TAPE GAGING COMPLETE 25'
M07531 TAPE GAGING COMPLETE 25'LUFKIN
M07540 TAPE GAGING REFILL 25'

M07541 TAPE GAGING REFILL 25' LUFKIN
M07542 TAPE GAGING REFILL 25' BLACK L
M07550 PLUMB BOB #590

M07553 LITTLE JOE WIPER

M07560 KOLOR KUT WATER FINDING PASTE
M07570 KOLOR KUT GAS FINDING PASTE
M07575 DIP STICK GAUGING

M07696 TAPE MEASURE O.D. 6'

M07698 TAPE MEASURE ENGR. TENTHS 25'
MO07700 TAPE MEASURE ENGR. TENTHS 12'
M07710 TAPE MEASURE 12' REGULAR
MO7711 TAPE MEASURE 16' REGULAR
M07713 TAPE MEASURE 25' REGULAR
M07714 TAPE MEASURE 30' REGULAR
MO07717 TAPE MEASURE 100' REG

M0780727 OILER GOLDEN ROD 4 OZ W/SPOUT
M0780737 OILER GOLDEN ROD 20 OZ W/SPOUT
M0781554 REGULATOR AIR MINI 1/4"

M0781555 REGULATOR AIR 1/4"

M0781558 REGULATOR AIR 1/2" #15295
M0781564 CAPS WEATHER 1" PVC

M07815645 CAPS WEATHER 2 PVC

M07815647 WICK F/1-1/4" LUBRICATOR (2)
M0781565 SEAT & TRIM F/NORRIS DUMP 3/8"
M0781566 SEAT & TRIM F/NORRIS DUMP 1/2"
M07815665 SEAT & TRIM F/NORRIS DUMP 3/4"
M078156680 KIMRAY 230 300# B.P. VALVE REC
M078156681 KIMRAY 212 SGTB.P. VLV RECOND.
M078156682 KIMRAY 212 SGT BP REG. NEW
M078156685 KIMRAY 2"MA PO VALVE RECOND.
M0781566855 KIMRAY 2" TYPE 230 BP RED. VLV
M0781566857 VALVE BP MALLARD HP #5450 F/O
M078156686 VALVE 1" 2220 HP DUMP RECOND
M0781566865 VALVE 2" 2220 HP DUMP RECOND
M078156687 VALVE 1" HP DUMP 2220 TOP HALF

M078156688 VALVE 1" 5488HP DUMP GLOBE BOD



M0781566885
M078156689
M078156691
M0781567050
M0781567125
M07815671440
M0781567AFR
M0781567AFR60
M0781570MECO
M0781570NLEVEL
M0781570RLEVEL
M0781570S1LEVEL
M0781570SANP
M0781570SANPR
M0781570SSDISP
M0781570THRO
M07815R
M078180
M078181
M078182
M078183
M078187
M078190
M078192
M078193
M078195
M078196
M0781962
M0781963
M0781965
M0781967
M0781968
M0781969
M07820

M078201
M0782015
M078202
M078205
M078206
M078207
M078208
M0782085
M078209
M0782095
M07821

M078215
M07822

M07824
M078245
M07825

M07833

M07834
M0783402
M07835
M078355
M0783558
M0783559
M078357
M078358
M078359
M079545

VALVE 1" 5488HP DUMP TEE BODY
TEE 1" BODY F/HP DUMP VALVE
VALVE METERING KIMRAY 1440 1"
VALVE RELIEF SET @ 50# 1"
VALVE RELIEF SET @ 125# 1"
VALVE RELIEF SET @ 1440# 2"
REGULATOR 67 AFR FISHER 0-35
REGULATOR 67 AFR FISHER 0-60
REGULATOR MECO STYLE H.P.6000#
LEVEL CONTROLLER NEW

LEVEL CONTROLLER REBUILT
LEVEL CONTROLLER W/S.S. FLOAT
SNAP PILOT WITH GUAGES
REPAIR KIT F/SNAP PILOT W/STEM
LEVEL CONTROLER SS DISPL
THROTTLE PILOT W/GUAGES

PEN BARTON PKG (6)
REGULATOR OUNCE 1" 6-14" W.C.
REGULATOR HP LITTLE JOE 1"
REGULATOR HP BIG JOE 1"
REGULATOR HP BIG JOE 2"
GASKET BODY F/BIG JOE REG
ORIFICE SS F/P 630 REGU 1/8"
ORIFICE SS F/P 630 REG 3/16"
ORIFICE SS F/P 630 REGU 1/4"
ORIFICE SS F/P 630 REG 3/8"
ORIFICE SS F/P 630 REGU 1/2"
SPRING 27-50 F/BIG JOE REG
SPRING 46-95 F/BIG JOE REG
SPRING 90-150 F/BIG JOE REG
SPRING 150-200 F/BIG JOE REG
SPRING 200-275 F/BIG JOE REG
SPRING 275-500 F/BIG JOE REG
FUNNEL TRACTOR CONCENTRIC
FUNNEL TRACTOR ECENTRIC
FUNNEL LARGE PLASTIC ORANGE
OIL MEASURE 5 QT W/SPOUT
BRUSH SIGHT GLASS 1/2" X 42"
BRUSH SIGHT GLASS 5/8" X 42"
RUBBERS SIGHT GLASS

SIGHT GLASS HI PRE 5/8" X 48"
CUTTER GLASS

OIL THIEF 16" BARREL CLEAR
ROPE THIEF 25 FOOT

FUNNEL LONG SPOUT METAL
FUNNEL LONG SPOUT PLASTIC
FUNNELS SHORT SPOUT 3 PC
BUNG WRENCH

PUMP HAND F/TORQUE FLUID
PUMP SIPHON POLY

PUMP HAND F/5 GAL BUCKET #321
PUMP 1" AIR OPER DIAPHRAGM
PUMP 2" AIR OPER DIAPHRAGM
PUMP ROTARY HAND

PUMP BARREL DIAPHRAGM

PUMP 12 VOLT DIESEL TRANSFER
PUMP 110 V OIL TRANSFER

PUMP 3 HP X 2" CENT

PUMP 5.5 HP CENT PUMP 2" LION
PUMP 6.5 HP CENT PUMP

BOTTLE FUEL GAS VOLUME



MO079547
M08002
MO08003
M08004
MO08005
MO080059
MO080060
M08140
MO08141
MO08976
MO09850
MH00165
P
P00040
P00052
P00053
P00054
P000545
P00055
P000555
P00056
P00100
P00104
P00105
P00110
P00115
P00119
P00120
P00130
P00142
P001425
P00143
P00144
P00145
P00147
P00157
P00158
P00159
P00160
P00161
P00165
P00170
P00175
P00177
P00180
P00185
P00186
P00190
P00192
P00193
P00195
P00900
P00950
PAG2095
PAG4185
PAG4188
PAG4190
PAG4195
PAG4197
PAG4198

SEPERATOR 30" X 10' X 1440 2PH
HYDROMETER KIT W/CASE
CYLINDER GRADUATED 500 ML CLR
CYLINDER GRADUATED 500 ML
CYLINDER GRADUATED 1000 ML
DRUM GUAGE W/MOUNTING NIPPLE
DRUM CRADLE W/WHEELS

BINKS GUN 140B

GUN PAINT W/CUP

SOAP STICKS

MONITORS GAS ALERT CLIP H2S
HEATER 175,000BTU TORPEDO
PAINT

RUST REMOVER GAL.

PAINT STRAINER

PAINT TRAY

PAINT TRAY LINERS

PAINT ROLLER FRAME 4"

PAINT ROLLER FRAME 9"

PAINT ROLLER COVER 4"

PAINT ROLLER COVER 9"

SPRAY PAINT

PAINT REMOVER AERSOL 16 oz.
PAINT SPRAY COLD GALV.

PAINT SPRAY BRIGHT SILVER KRY
PAINT SPRAY STONE GRAY

PAINT SPRAY FLAT BLACK

PAINT SPRAY GLOSS BLACK

PAINT SPRAY REGAL BLUE

PAINT SPRAY GOLD KRY

PAINT SPRAY WHITE KRYLON

PAINT SPRAY KRYLON SAFETY RED
PAINT SPRAY SAFETY YELLOW KRY
PAINT SPRAY KRYLON TRUE BLUE
PAINT SPRAY KRYLON NEW CAT YEL
PAINT SPRAY RED

PAINT SPRAY GREEN KRYLON

PAINT SPRAY JOHN DEERE GREEN
PAINT SPRAY GLOSS WHITE

PAINT SPRAY GM BLUE

PAINT SPRAY PRIMER BLACK

PAINT SPRAY PRIMER GRAY

PAINT SPRAY PRIMER RED

PAINT SPRAY PRIMER RED KRYLON
PAINT SPRAY HI HEAT BLACK KRYL
PAINT SPRAY UPSIDE DOWN ORANGE
PAINT SPRAY UPSIDE DOWN YELLOW
PAINT SPRAY RUSTOLEUM SFTY YLW
PAINT SPRAY RUSTOLEUM DARK GRN
PAINT SPRAY RUSTOLEUM SFTY RED
PAINT SPRAY RUSTOLEUM BLACK
PAINT WATER BORN AQUA GAL.
PAINT AGGIE MRN AQUA GLOSS GAL
PAINT BAKER YELLOW AQUA 5 GAL
PAINT BAKER BLUE AQUA 5 GAL
PAINT SPARKMAN BLUE AQUA 5 GAL
PAINT JW GRAY AQUA 5 GAL

PAINT ALUMINUM AQUA 5 GAL

PAINT WEATHERFORD RED AQUA 5 G
PAINT BLACK AQUA 5 G



PE600
PE690
PE691
PE692
PE694
PE740
PE741
PE742
PE744
PE747
PEE
PEEO11
PEE055
PEEO0555
PEE0556
PEE6025
PEE6031
PEE6032
PPA1000
PRE03001
PRE030013
PRE030015
PRE0991
PRE1000
PRE1001
PRE1005
PRE2011
PRE4021
PRE40215
PRE40515
PRES5011
PRE701
PRE702
PRE703
PRI5001
PRI17001
PS4145
PS4150
PS4170
PS4175
Pl
PUC0100
PUIO100
PUR3A
PUR4A
PUR4HK
PUR4K
PUR7L
PURP45K
PUS0100
PUSP0100
PUSP0100SS
PUV0100
PUV0202
PUV0204
PUV0206
PWG240
PWG250
PWG260
PWG450

PAINT POLY UREHTENE

PAINT WHITE POLY URETHENE 5 GL
PAINT BLACK POLY URETHANE 5 GL
TANK LINER RED OXIDE 5 GAL W/A
TANK LINER OFF WHITE 5 GAL W/A
PRIMER EPOXY POLY BASE GAL
PRIMER EPOXY B ACTIVATOR GAL
PRIMER RIG GRAY POLY 5 GAL.
PAINT A TEXIAN GRAY POLY 5 GAL
PAINT HANOVER TAN POLY GAL
RUST EX GALS

PAINT THINNER MINERAL SPIRITS
PAINT THINNER XYLENE 5 GAL

PAINT THINNER LACQUER 5 GAL
PAINT THINNER M. SPIRITS 5 GAL
PAINT HI HEAT BLACK GAL.

PAINT PATTERSON ORANGE RUST EX
PAINT PRECISION BLUE GAL
ALUMINUM PASTE QT.

PAINT NEW EMSCO GREEN RUST GAL
PAINT OLD EMSCO GREEN RUST GAL
PAINT UNIT RIG GRAY GAL.

PAINT BLACK RUST EX GAL

PAINT ALUMINUM RUST EX GAL
PAINT WHITE GAL RUST EX GAL
PAINT NEW CAT YELLOW GAL

PAINT SAFETY YELLOW RUST EX GL
PAINT NAT'L BLUE RUST EX GAL
PAINT NAT'L BLUE CROWN GAL
PAINT TETRA BLUE GAL

PAINT SAFETY RED RUST EX GAL
PAINT PATTERSON BLUE RUSTEX GA
PAINT PATTERSON GRAY RUSTEX GA
PAINT EXPRESS BLUE RUST EX GAL
PRIMER RED OXIDE RUST EX GAL
PRIMER GRAY GAL RUST EX GAL
PRIMER GRAY RUST EX 5 GAL

PAINT HANOVER TAN RUST EX 5 GA
PAINT PATTERSON RED RUSTEX 5 G
PAINT DESSERT TAN 5 GAL

PIPE

CAGE VALVE F/TEE BJB PUMP
INSERT VALVE F/TEE BJB PUMP
RUBBER 3" PISTON SERIES A
RUBBER 4-1/2" PISTON SERIES B
RUBBER 4" PISTON SERIES K
RUBBER 4-1/2" PISTON SERIES K
RUBBER 7-1/2" PISTON SERIES L
PISTON 4-1/2" SERIES K

SEAT F/TEE BJB PUMP

SPRING F/TEE BJB PUMP
SPRING S.S. F/TEE BJB PUMP
VALVE F/TEE BJB PUMP

SEAT FO F/TEE BJB PUMP
INSERT FO F/VALVE TEE BJB
VALVE FO F/TEE BJB PUMP
GASKET LINER F/EW 440
GASKET VALVE COVER F/EW440
GASKET CYLINDER HEAD

LINER 4-1/2" F/EW 440



PWV0200
PWV0202
PWV0204
PWV0206
PWV0225
PWV0226
PWV0230
PWV0235
PWV0240
PWV0245
PZP00008
PZP00016
PZP00032
PZP00048
PZP00064
PZP00116
PZP00132
PZP00148
PZP00164
PZP00200
PZP00202
PZP00204
PZP00208
PZP002132
PZP00216
PZP00232
PZP00248
PZP003116
PZP003132
PZP00316
PZP00332
PZP00334
PZP00348
PZP00364
PZP00408
PZP00432
PZP00448
PZP00448D
PZPV200
R
R00000X04
R00000X05
R00000X06
R00000X86
R00004
R00005
R00006
R00008
R00010
R00011
R00012
R00020
R000204
R000205
R000206
R000208
R000210
R000214
R000216
R000225

SPRING F/EW 440

SEAT F/EW 440

INSERT F/EW 440 PUMP
VALVE F/EW 440 PUMP
VALVE F/MUD PUMP
SEATS F/MUD PUMP
SEAT F/880 OPI

VALVE F/880 OPI

SPRING F/880 OPI
INSERTS F/880 OPI

PIPE SCH 40 T&C 1/2"
PIPE SCH 40 T&C 1"

PIPE SCH 40 T&C 2"

PIPE SCH 40 T&C 3"

PIPE SCH 40 T&C 4"

PIPE SCH 40 PE 1"

PIPE SCH 40 PE 2"

PIPE SCH 40 PE 3"

PIPE SCH 40 PE 4"

PIPE XXH

PIPE XXH

PIPE XXH

PIPE SCH 80 PE 1/2"
PIPESCH80T &C 2"
PIPE SCH 80 PE 1"

PIPE SCH 80 PE 2"

PIPE SCH 80 PE 3"
PIPESCH80T&C 1"USA
PIPESCH80T & C 2" USA
PIPE SCH 80 PE 1" USA
PIPE SCH 80 PE 2" USA
PIPE SCH 80 PE 2" USA FUSION
PIPE SCH 80 PE 3" USA
PIPE SCH 80 PE 4" USA
PIPE XXH 1/2"

PIPE XXH 2"

PIPE XXH 3" SINGLE RANDOM
PIPE XXH 3" DOUBLE RANDOM
PIPE POLY 2" SDR 11

WIRE ROPE, CHAIN & FITTINGS
LOK A LOY LINK 9/32"
LOK A LOY LINK 5/16"
LOK A LOY LINK 3/8"
WEDGELOCK LINK X 86
HOOK CLEVIS GRAB 1/4"
HOOK CLEVIS GRAB 5/16"
HOOK CLEVIS GRAB 3/8"
HOOK CLEVIS GRAB 1/2"
SHUT COLD 1/4"

SHUT COLD 5/16"

SHUT COLD 3/8"

CHAIN BOOM 3/8" X 20'
CHAIN HI TEST 1/4"
CHAIN HI TEST 5/16"
CHAIN HI TEST 3/8"
CHAIN HI TEST 1/2"
COME A LONG CABLE
BINDER LOAD 1/4"
BINDER LOAD 3/8"
BINDER LOAD LEBUS 7-1



R0002255
R000226
R000228
R000230
R000232
R000250
R000255
R00104
R00105
R00106
R00107
R00108
R00110
R00112
R00114
R00116
R00120
R001206
R001208
R001210
R001212
R001214
R001216
R001220
R00204
R00205
R00206
R00208
R00209
R00210
R00212
R00214
R00216
R00220
R00250
R00253
R00304
R00305
R00306
R00308
R00310
R00314
R00365
R00367
R00369
R00371
R00401
R00402
R00403
R004031
R00404
R00405
R011606
R011608
R011610
R013206
R013208
R013210
R013220
R021606
R021608

BINDER RATCHET LOAD 1/4"-5/16"
BINDER RATCHET LOAD 3/8"-1/2"
BINDER RATCHET LOAD 1/2"-5/8"
BINDER SAFETY LOAD 3/8"

BINDER SAFETY LOAD 1/2"

COME A LONG 3/8" SHAEFFER
WALKING BOOMER 3/8" STD.
SHACKLE SCREW PIN ANCHOR 1/4"
SHACKLE SCREW PIN ANCH. 5/16"
SHACKLE SCREW PIN ANCHOR 3/8"
SHACKLE SCREW PIN ANCHOR 7/16"
SHACKLE SCREW PIN ANCHOR 1/2"
SHACKLE SCREW PIN ANCHOR 5/8"
SHACKLE SCREW PIN ANCHOR 3/4"
SHACKLE SCREW PIN ANCHOR 7/8"
SHACKLE SCREW PIN ANCHOR 1"
SHACKLE SCREW PIN ANCH. 1-1/4"
SHACKLE BOLTED 3/8"

SHACKLE BOLTED 1/2"

SHACKLE BOLTED 5/8"

SHACKLE BOLTED 3/4"

SHACKLE BOLTED 7/8"

SHACKLE BOLTED 1"

SHACKLE BOLTED 1-1/4"

CLAMP WIRE ROPE 1/4"

CLAMP WIRE ROPE 5/16"

CLAMP WIRE ROPE 3/8"

CLAMP WIRE ROPE 1/2"

CLAMP WIRE ROPE 9/16"

CLAMP WIRE ROPE 5/8"

CLAMP WIRE ROPE 3/4"

CLAMP WIRE ROPE 7/8"

CLAMP WIRE ROPE 1"

CLAMP WIRE ROPE 1-1/4"

CLAMP FIST GRIP 7/16" - 1/2"
CLAMP FIST GRIP 9/16" - 5/8"
THIMBLE WIRE ROPE 1/4"

THIMBLE WIRE ROPE 5/16"
THIMBLE WIRE ROPE 3/8"

THIMBLE WIRE ROPE 1/2" & 9/16"
THIMBLE WIRE ROPE 5/8"

THIMBLE WIRE ROPE 7/8"

WEDGE & FER WH. F/3/4" WINCH L
WEDGE & FER RED F/7/8" WINCH L
WEDGE & FER BLU F/1" WINCH LIN
WEDGE & FER YEL F/1-1/8" WINCH
CUTTER CABLE BLADE W/PIN #1A
CUTTER CABLE BLADE W/PIN #2
DIES F/ CABLE CUTTER #1A

DIES F/ CABLE CUTTER #2

CUTTER CABLE #1A

CUTTER CABLE #2

SLING 1" X 6' SINGLE NYLON

SLING 1" X 8' SINGLE NYLON

SLING 1" X 10" SINGLE NYLON
SLING 2" X 6' SINGLE NYLON

SLING 2" X 8" SINGLE NYLON

SLING 2" X 10' SINGLE NYLON
SLING 2" X 20" SINGLE NYLON
SLING 1" X 6' DOUBLE NYLON
SLING 1" X 8 DOUBLE NYLON



R021610 SLING 1" X 10' DOUBLE NYLON

R023206 SLING 2" X 6' DOUBLE NYLON
R023208 SLING 2" X 8 DOUBLE NYLON
R023210 SLING 2" X 10' DOUBLE NYLON
R023220 SLING 2" X 20' DOUBLE NYLON
S SWAGES

S014832 SWAGE NIPPLE STD 3" X 2"
S014840 SWAGE NIPPLE STD 3" X 2-1/2"
S016432 SWAGE NIPPLE STD 4" X 2"
S016448 SWAGE NIPPLE STD 4" X 3"
S019664 SWAGE NIPPLE STD 6" X 4"
S021208 SWAGE NIPPLE XH 3/4" X 1/2"
S021608 SWAGE NIPPLE XH 1" X 1/2"
S021612 SWAGE NIPPLE XH 1" X 3/4"
S023216 SWAGE NIPPLE XH 2" X 1"
S0232165 SWAGE NIPPLEB X T2 X 1 XH
S023224 SWAGE NIPPLE XH 2" X 1-1/2"
S024032 SWAGE NIPPLE XH 2-1/2" X 2"
S024832 SWAGE NIPPLE XH 3" X 2"
S024840 SWAGE NIPPLE XH 3" X 2-1/2"
S026432 SWAGE NIPPLE XH 4" X 2"
S026448 SWAGE NIPPLE XH 4" X 3"
S0271208 SWAGE NIPPLE XXH 3/4" X 1/2"
S0271608 SWAGE NIPPLE XXH 1" X 1/2"
S0271612 SWAGE NIPPLE XXH 1" X 3/4"
S0273216 SWAGE NIPPLE XXH 2" X 1"
S0273224 SWAGE NIPPLE XXH 2" X 1-1/2"
S0274032 SWAGE NIPPLE XXH 2-1/2" X 2"
S0276448 SWAGE NIPPLE XXH 4" X 3"
S21448 PLUG BULL STD 3"

S21464 PLUG BULL STD 4"

S21508 PLUG BULL XH 1/2"

S21600 PLUG BULL XH 1"

S23200 PLUG BULL XH 2"

5232003 PLUG BULL XH 3"

S$232004 PLUG BULL XH 4"

523208 PLUG BULL XH 2" TAPPED 1/2"
S27321 PLUG BULL XXH 2"

527322 PLUG BULL XXH 2" TAPPED 1/2"
5281232 PLUG BULL STD 2" EUE
5281240 PLUG BULL STD 2-1/2" EUE
5281325 PLUG BULL STD 2" EUE TAP 1/2"
5281405 PLUG BULL STD2-1/2" EUE x1/2"T
528232 BULL PLUG XH 2" EUE

5282325 PLUG BULL XH 2" EUE TAP 1/2"
S$28240 PLUG BULL XH 2-1/2" EUE
528248 PLUG BULL XH 3" EUE
SC27B23P 2-7/8" EUE BOX x 2-3/8" EUE P
ST13232L SWAGE STD. 2" EUE x 2" LP
ST14032L SWAGE STD 2-1/2"EUE X 2" LP
ST14040L SWAGE STD 2-1/2"EUEx 2-1/2" LP
ST140E32E SWAGE STD 2-1/2" EUEX2" EUE
ST148E40E SWAGE STD 3"EUE X 2-1/2" EUE
ST148L40E SWAGE STD 3"LP X 2-1/2"EUE
ST23232L SWAGE XH 2 EUE X 2"LP NIP
ST240E32E SWAGE XH 2-1/2"EUE X 2"EUE
ST240E32L SWAGE XH 2-1/2" EUE X 2"LP
ST240E40L SWAGE XH 2-1/2" EUE X 2-1/2"LP
ST248L40E SWAGE XH 3"LP X 2-1/2" EUE

ST33232L SWAGE XXH 2" EUE X 2" LP



ST34032L
ST44032L
SW12048
SW120510
SW12055
SW64024
SW64032
SW65016
SWe5024
SW65032
SW67024
T
T00005
T00007
T00008
T00010
T00012
T00014
T00016
T00020
T00022
T00023
T00024
T00026
T00028
T00040
T00041
T00043
T00045
T00052
T00054
T00095
T00100
T0010005
T00101
T001014
T0010145
T001015
T0010156
TO1
T010001
T0100010
T010001001
T0100011
T0100012
T0100013
T0100014
T0100015
T010002
T01001
T01003
T01005
T010055
T01007
T01009
TO1011
T01013
T01015
T01017
T0101708

SWAGE XXH 2-1/2"EUE X 2"LP
SWAGE 2-7/8" EU x 2-3/8" E XXH
JOINT SWIVEL 3" STYLE 20 1000#
JOINT 2" STYLE 10 CODE SILVER
JOINT 2" STYLE 20 CODE SILVER
JOINT 1-1/2"STYLE 40 CODE SILV
JOINT 2" STYLE 40 CODE SILVER
JOINT 1" STYLE 50 CODE SILVER
JOINT 1-1/2"STYLE 50 CODE SILV
JOINT 2" STYLE 50 CODE SILVER
JOINT 1-1/2"STYLE 70 CODE SILV
HAND TOOLS

HAMMER WRENCHES

WRENCH HAMMER 5/8"
WRENCH HAMMER 3/4"
WRENCH HAMMER 7/8"
WRENCH HAMMER 1" 6" 600
WRENCH HAMMER 1-1/8" 6" 900
WRENCH HAMMER 1-1/4"
WRENCH HAMMER 1-3/8" 1500
WRENCH HAMMER 1-1/2"
WRENCH HAMMER 1-5/8"
WRENCH HAMMER 1-3/4"
WRENCH HAMMER 1-7/8"
WRENCH HAMMER 2"

CHAIN TONG, LONG CHAIN CT12
CHAIN TONG, REG. CHAIN CT12
CHAIN ONLY F/CT 12 CHAIN TONG
CHAIN TONG, REG. CHAIN CT13
STRAP WRENCH RIDGID LONG
STRAP WRENCH KLEIN SHORT
CHAIN STRETCHER #1

BOLT CUTTER 24"

BOLT CUTTER 36"

VISE 8" UTILITY PIPE VISE

VISE #25 RIDGID BENCH YOKE
VISE #27 RIDGID BENCH YOKE
VISE BC 410 CHAIN

JAW ONLY F/BC 410 VISE

PIPE WRENCH & PARTS
WRENCH RAPIDGRIP PIPE
CUTTER WHEELS#1-#2 F/PIPE CTR
CUTTER WHEELS F/S.S.

PIPE CUTTER 2A RIDGID
CUTTER WHEELS #3-#4 F/SS F229S
DIES 1" 12R NPT HS F/PIPE THRD
DIES 2" 12R NPT F/PIPE THRDR
DIES 65R F/PIPE THRDR.
WRENCH PIPE 60"

WRENCH PIPE 48"

WRENCH PIPE 36"

WRENCH PIPE 24"

WRENCH PIPE 24" GENERIC
WRENCH PIPE 18"

WRENCH PIPE 14"

WRENCH PIPE 12"

WRENCH PIPE 10"

WRENCH PIPE 8"

WRENCH PIPE 6"

WRENCH PIPE 8" ROTH



T0101710
T0101712
T0101714
T0101718
T0101724
T0101736
T0101748
T0102018
T0102024
T0102036
T01021
T01023
T01025
T01026
T01030
T01031
T01034
T01035
T01037
T01039
T01041
T01049
T01051
T01053
T01055
T01057
T01059
T01061
T01063
T01068
T01070
T01071
T01073
T01075
T01076
T01077
T01079
T01081
T01083
T01085
T01087
T01089
T02
T02038
T02040
T02042
T020424
T020425
T02044
T02046
T02048
T02049
T02069
T02071
T02073
T02074
T02075
T02085
T02090
T02092
T02095

WRENCH PIPE 10" ROTH
WRENCH PIPE 12" ROTH
WRENCH PIPE 14" ROTH
WRENCH PIPE 18" ROTH
WRENCH PIPE 24" ROTH
WRENCH PIPE 36" ROTH
WRENCH PIPE 48" ROTH
WRENCH ALUM PIPE 18" ROTH
WRENCH ALUM PIPE 24" ROTH
WRENCH ALUM PIPE 36" ROTH
WRENCH ALUM. PIPE 36"
WRENCH ALUM. PIPE 24"
WRENCH ALUM. PIPE 18"
WRENCH ALUM. PIPE 14"

HEEL JAW F/60" PIPE WRENCH
HEEL JAW F/48" PIPE WRENCH
HEEL JAW F/36" PIPE WRENCH
HEEL JAW F/24" PIPE WRENCH
HEEL JAW F/18" PIPE WRENCH
HEEL JAW F/12-14" PIPE WRENCH
HEEL JAW F/10" PIPE WRENCH
HOOK JAW F/60" PIPE WRENCH
HOOK JAW F/48" PIPE WRENCH
HOOK JAW F/36" PIPE WRENCH
HOOK JAW F/24" PIPE WRENCH
HOOK JAW F/18" PIPE WRENCH
HOOK JAW F/14" PIPE WRENCH
HOOK JAW F/12" PIPE WRENCH
HOOK JAW F/10" PIPE WRENCH
PIN ONLY F/60" PIPE WRENCH
PIN ONLY F/48" PIPE WRENCH
PIN ONLY F/36" HEEL JAW

PIN ONLY F/24" HEEL JAW

PIN ONLY F/18" HEEL JAW

KNURL NUT F/60" PIPE WRENCH
KNURL NUT F/48" PIPE WRENCH
KNURL NUT F/36" PIPE WRENCH
KNURL NUT F/24" PIPE WRENCH
KNURL NUT F/18" PIPE WRENCH
KNURL NUT F/14" PIPE WRENCH
KNURL NUT F/12" PIPE WRENCH
KNURL NUT F/10" PIPE WRENCH
ADJUSTABLE WRENCHES & PARTS
WRENCH ADJUSTABLE 18" WRIGHT
WRENCH ADJUSTABLE 15" WRIGHT
WRENCH ADJUSTABLE 12" WRIGHT
WRENCH ADJUSTABLE 10" WRIGHT
WRENCH ADJUSTABLE 12"
WRENCH ADJUSTABLE 10"
WRENCH ADJUSTABLE 8"
WRENCH ADJUSTABLE 6"
WRENCH ADJUSTABLE LOCKING
PLIERS FENCE 10"

PLIERS TONGUE & GROOVE 12"
PLIERS TONGUE AND GROOVE 10"
PLIERS SLIP JOINT 6"

PLIERS SLIP JOINT 8"

PLIERS VISE GRIP 10"

PLIERS LINEMAN

PLIERS LINEMAN KLEIN H.D.
PLIERS NEEDLE NOSE



T02097 WIRE CUTTERS DIAGONAL

T02098 PLIER SNAP RING SET

T02099 PLIERS WIRE STRIPPER

T02110 TERMINAL KIT W/STRIPPER

T03 SOCKET SETS

T03017 SOCKET SET 20PC 3/4 DR.
T03018 SOCKET SET 108p "3/8"dr.

T03019 SOCKET SET 170P 1/2"3/8"1/4"dr
T03020 SOCKET SET 201P 1/4-3/8-1/2"
T03022 1/2" SOCKET SET

T03024 3/8" SOCKET SET

T03050 BRAKE OVER BAR 1/2"

T03055 RATCHET 1/2" DR.

T03214 BRAKE OVER BAR 3/4"

T04 SCREWDRIVERS

T04001 SCREWDRIVER SET 6PC

T04002 SCREWDRIVER SET CUSHION GRIP(6
T04013 SCREWDRIVER FLAT BLADE 3"
T04014 SCREWDRIVER FLAT BLADE 4"
T04016 SCREWDRIVER FLAT BLADE 6"
T04018 SCREWDRIVER FLAT BLADE 8"
T04019 SCREWDRIVER FLAT BLADE 10"
T04020 SCREWDRIVER FLAT BLADE 12"
T04023 SCREWDRIVER PHILLIPS 3"
T04024 SCREWDRIVER PHILLIPS 4"
T04026 SCREWDRIVER PHILLIPS 6"
T04028 SCREWDRIVER PHILLIPS 8"

TO05 O X B END WRENCHES & SETS
T05015 WRENCH SET OxB END 1/4" -1-1/4
T05016 WRENCH SET OXB END 1-1/4" - 2"
T05102 WRENCH OXB END 1/8"

T05104 WRENCH OXB END 1/4"

T05105 WRENCH OXB END 5/16"

T05106 WRENCH OXB END 3/8"

T05107 WRENCH OXB END 7/16"

T05108 WRENCH OXB END 1/2"

T05109 WRENCH OXB END 9/16"

T05110 WRENCH OXB END 5/8"

T051105 WRENCH OXB END 11/16"

T05112 WRENCH OXB END 3/4"

T051125 WRENCH OXB END 13/16"

T05114 WRENCH OXB END 7/8"

T05116 WRENCH OXB END 15/16"

T05117 WRENCH OXB END 1"

T05118 WRENCH OXB END 1-1/16"
T05119 WRENCH OXB END 1-1/8"

T05120 WRENCH OXB END 1-1/4"

T05123 WRENCH O X B 1-7/16"

T05124 WRENCH OXB END 1-1/2"

T06 MISC TOOLS

T06100 WRENCH ALLEN SET SMALL POCKET
T06105 WRENCH ALLEN SET MED POCKET
T06110 WRENCH ALLEN SET LARGE POCKET
T06115 WRENCH ALLEN SET T HANDLE
T06117 WRENCH ALLEN SET SOCKET
T06120 WRENCH ALLEN SET BOXED LONG
T0612006 WRENCH ALLEN LONG 3/8"
T0612008 WRENCH ALLEN LONG 1/2"
T0612009 WRENCH ALLEN LONG 9/16"
T0612010 WRENCH ALLEN LONG 5/8"

T0612012 WRENCH ALLEN LONG 3/4"



T0612014
T06147
T061475
T06148
T06149
T06150
T06155
T06157
T06158
T06159
T06160
T06170
T06171
T06200
T06300
T06301
T06302
T07
T07101
T07108
T07110
T07208
T07210
T07312
T07408
T07412
T08
T08002
T08004
T08006
T08008
T08010
T08012
T08016
T08020
T08026
T08028
T08032
T08035
T080355
T08036
T08104
T08106
T08108
T08110
T08112
T08206
T08206S
T08208
T0820824
T08208S
T08210
T08212
T08512
T08513
T08515
T08517
TAO0013
TA0015
TA0025
TA0106

WRENCH ALLEN LONG 7/8"

PRY BAR PINCH POINT 18# X 5'
NAIL BAR 3/4" X 36"

PUNCH SOLID 6 PC SET

PUNCH SET CENTER

PUNCH PIN SET 6 PC

PUNCH LONG PIN 5PC SET

STAMP H.D. 1/4" NUMBERS

STAMP H.D. 3/8" STEEL LETTERS
STAMP H.D. 3/8" STEEL NUMBERS
COLD CHISEL SET 6 PC
EXTRACTOR SCREW SET ROUND
EXTRACTOR SCREW SET SQUARE
TAP & DIE SET

TOOL BOX 20" YELLOW

TOOL BOX METAL RED
TOOL BOX S.S.

FILES

FILE HANDLES

FILE TRIANGULAR 8"

FILE TRIANGULAR 10"

FILE ROUND 8"

FILE ROUND 10"

FILE HALF ROUND 10"

FILE MILL 8"

FILE MILL 12"

HAMMERS

HAMMER BRASS 2#
HAMMER SHOP 4# DF

HAMMER SLEDGE 6# DF

HAMMER SLEDGE 8# DF

HAMMER SLEDGE10# DF

HAMMER SLEDGE12# DF

HAMMER SLEDGE16# DF

HAMMER SLEDGE 20#

HAMMER BALL PEIN 160z

HAMMER BALL PEIN 240z

HAMMER BALL PEIN 320z

HAMMER CLAW
HAMMER CLAW 20 OZ
HAMMER DEAD BLOW

HAMMER SHOP FIBERGLASS 4#
HAMMER SLEDGE FIBERGLASS 6#
HAMMER SLEDGE FIBERGLASS 8#
HAMMER SLEDGE FIBERGLASS 10#
HAMMER SLEDGE FIBERGLASS 12#
HAMMER FIBERGLASS 6# X 32" HAN
HAMMER FIBERGLASS 6# X 16" HAN
HAMMER FIBERGLASS 8# X 32" HAN
HAMMER FIBERGLASS 8# X 24" HAN
HAMMER FIBERGLASS 8# SHORT HAN
HAMMER FIBERGLAS 10# X 32" HAN
HAMMER FIBERGLAS 12# X 32" HAN
CALIPER 12" O.D.

CALIPER 12" I.D.

CALIPER 6" DIAL
CALIPER 12" DIGITAL

GASKET 34G VAC. VITON F/MOD330
GASKET #70 VITON F/600 HATCH
TANK RINGS GRADE RINGS

TANK PATCH TAPERED SCREW 3/8"



TAO0110
TAO0114
TA0316

TU
TU001001
TU001003
TU0010035
TU001004
TU001007
TU00104
TUO00106
TU00204
TU00206
TU00304
TU00306
TU00404
TU00406
TU00504
TU00506
TU00604
TU00606
TUSS1103
TUSS1105
TUSS11055
TUSS1106
TUSS1108
TUSS1110
TUSS1113
TUSS1115
TUSS1120
TUSS11205
TUSS1121
TUSS1123
TUSS1125
TUSS1127
TUSS1130
TUSS1135
TUSS1137
TUSS1140

TUSS114014
TUSS114015
TUSS114016

TUSS1143
TUSS1145
TUSS11453
TUSS11455

TUSS114554
TUSS114555

TUSS11457
TUSS1150
TUSS1155
TUSS1160
TUSS1165

U
u0o003
u00005
U000055
u0o010
u0o011
uooo12

TANK PATCH TAPERED SCREW 5/8"
TANK PATCH TAPERED SCREW 7/8"
TANK PATCH ROUND SEAL W/SLIDE

TUBING/FITTINGS

CUTTER TUBING MINATURE
CUTTER TUBING LARGE

CUTTER WHEEL F/#10 TBG CUTTER
CUTTER TUBG F/S.S. 1/8"- 1"RID
BENDER TUBING RIGID 3 SIZES
TUBING COPPER 1/4"

TUBING COPPER 3/8"

FERRULES 1/4" F/COPPER TUBING
FERRULES 3/8" F/ COPPER TBG.
NUT 1/4" F/COPPER TBG.

NUT 3/8" F/COPPER TBG.

FIT.1/4" COMP X 1/4" NPT STR.C
FIT.3/8" COMP X 1/4" NPT STR.C
FIT.COP.1/4" COMP x1/4" NPT 90
FIT.3/8" COMP X 1/4" NPT 90 C
UNION 1/4" COMPRESSION COPPER
UNION 3/8" COMPRESSION COPPER
TUBING 1/4" 304 SS .035 WLD
TUBING 3/8" 304 SS .035

TUBING 3/8" 304SS .035 300' CO
TUBING 1/2" 304 SS .035
CON.S.S.1/4"TX 1/8"N STR. MALE
CON.S.S. 1/4" X 1/4" STR. MALE
CON.S.S.1/8NPT X3/8"TU STR MAL
CON.S.S. 1/4"NPT X 3/8"TU MALE
CON. S.5.3/8" X 3/8" STR. MALE
CON. S.S. 1/2" X 1/4 MALE

CON. S.S. 1/2" X 1/2" MALE

CON. S.S. 1/4"T X 1/8"NPT 90D
CON. S.S.1/4"T X 1/4" NPT 90D
CON. S.S. 3/8"T X 1/8"NPT 90D
CON. S.S. 3/8"T X 1/4"NPT 90D
CON. S.S. 3/8" X 3/8" 90D

CON. S.S 1/2" X 1/2" 90DEG TBG
CON. S.S. UNION TUBING 1/4"
CONN S.S. UNION TBG. 90 1/4"
CONN S.S. UNION TBG. 90 3/8"
CONN S.S. UNION TBG. 90 1/2"
CON. S.S UNION TBG 3/8" X 1/4"
CON. S.S. UNION TUBING 3/8"
CON. S.S. UNION TUBING 1/2"
CON. S.S. TEE COMP. 1/4"

CON S.S TEE1/4"T W/1/4" NPT B
CON S.S. TEES3/8" W/1/4" NPT B
CON S.S. TEE COMP. 3/8"

CON S.S. NUTS 1/4"

NUTS 3/8" S.S.

FERRULES 1/4" S.S.

FERRULES 3/8" S.S.

HAMMER UNIONS

UNION SEAL 1" 602, 1002

UNION SEAL F/ 1-1/2" 602

UNION SEAL 1-1/2" HP

UNION SEAL BUNA F/ 2" 602-1502
UNION SEAL VITON F/2" 1502
UNION SEAL F/ 3" 1002-1502



u0o015
uooo17
u0o019
u00021
u00040
uoot12
u01008
u10048
u10064
u10080
uU10096
u10098
U20016
u20024
U20032
u20040
u20048
u20049
U2030010
U2030015
U2030020
U2030025
U2030030
U2030040
U2040032
U20400325
U2060016
u2060216
U2060224
u2060232
U2060232G
u2060248
U2060264
u2100216
uU2100232
u2100264
U2150232
U2150264
u271502
u2715025
uU271503
U3715025
\'}
V000000112
V000000113
V000000114
V000000115
V000000116
V000000117
V00000112
V00000113
V00000114
V0000103
V0000104
V00001044
V0000108
V000010824
V00001106
V00001108
V00001112

UNION SEAL F/ 4" 602

UNION SEAL F/2" 602-1502W/BRAS
UNION SEAL F/3"1002-1502W/BRAS
UNION SEAL F/4"602W/BRASS RNG
UNION SEAL F/ 2" GUIBERSON
SEAL RING F/2" DANIEL ORIF OLD
NUT WING F/8" FRAC HOSE
UNION HAMMER FIG.100 3"

UNION HAMMER FIG.100 4"

UNION HAMMER FIG.100 5"

UNION HAMMER FIG.100 6"

UNION HAMMER FIG.100 8"

UNION HAMMER FIG.200 1"

UNION HAMMER FIG.200 1-1/2"
UNION HAMMER FIG.200 2"

UNION HAMMER FIG.200 2-1/2"
UNION HAMMER FIG.200 3"

UNION HAMMER FIG.200 4"

UNION HAMMER FIG. 300 1"
UNION HAMMER FIG. 300 1.5"
UNION HAMMER FIG. 300 2"
UNION HAMMER FIG. 300 2.5"
UNION HAMMER FIG. 300 3"
UNION HAMMER FIG. 300 4"
UNION HAMMER FIG.400 2"

UNION HAMMER FIG.400 4"
UNION HAMMER 1" 600 BRZ SEAL
UNION HAMMER FIG.602 1"

UNION HAMMER FIG.602 1-1/2"
UNION HAMMER FIG.602 2"

UNION GUIBERSON 2"

UNION HAMMER FIG.602 3"

UNION HAMMER FIG.602 4"

UNION HAMMER FIG.1002 1"
UNION HAMMER FIG.1002 2"
UNION HAMMER FIG.1002 4"
UNION HAMMER FIG.1502 2"
UNION HAMMER FIG. 1502 4"
UNION FEMALE SUB 2" FIG 1502
UNION HAMMER FIG.1502 2"XXHBW
CAP BLANK W/1/2"NPT F/2" 1502
UNION HAMMER FIG.1502 3"XXHBW

VALVES

PIN SHEAR F/OTECO RELIEF VLV
VALVE PRESSURE RELIEF 5M
PISTON SP4710 F/OTECO RELIEF V
CUSHION F/OTECO RELIEF VALVE
STEM S.S. F/OTECO RELIEF VALVE
ORING BODY F/OTECO RELIEF VLV
FAUCET WATER 3/4"

FAUCET BUNG 3/4"

FAUCET BUNG 2"

VALVE DRAIN BRASS 1/4"

VALVE PET COCK 1/4"M X F
VALVE RELIEF 1/4"

VALVE PET COCK 1/2"M X F
VALVE TANK VENT 2" STACK
VALVE CHECK BRASS 3/8"

VALVE CHECK BRASS 1/2"

VALVE CHECK BRASS 3/4"



V00001116

V00001120 VALVE CHECK BRASS 1-1/4"
V00001124 VALVE CHECK BRASS 1-1/2"
V00001132 VALVE CHECK BRASS 2"
V00001148 VALVE CHECK BRASS 3"
V00001164 VALVE CHECK BRASS 4"
V000011808 VALVE CHECK PISTN 1/2" 800#
V000011816 VALVE CHECK PISTN 1" 800#
V000011832 VALVE CHECK PISTN 2" 800#
V00008 VALVE GATE BRASS 1/2"
V00012 VALVE GATE BRASS 3/4"
V00016 VALVE GATE BRASS 1"
V00020 VALVE GATE BRASS 1-1/4"
V00024 VALVE GATE BRASS 1-1/2"
V00032 VALVE GATE BRASS 2"
V00048 VALVE GATE BRASS 3"
V00064 VALVE GATE BRASS 4"
V00100 BRASS BALL VALVES

V00104 VALVE BALL BRASS FP 1/4"
V00106 VALVE BALL BRASS FP 3/8"
V00108 VALVE BALL BRASS FP 1/2"
V00112 VALVE BALL BRASS FP 3/4"
V00116 VALVE BALL BRASS FP 1"
V00120 VALVE BALL BRASS FP 1-1/4"
V00124 VALVE BALL BRASS FP 1-1/2"
V00132 VALVE BALL BRASS FP 2"
V0O0132A VALVE BALL BRASS RP 2"
V00136 VALVE BALL BRASS FP 2-1/2"
V00148 VALVE BALL BRASS FP 3"
V00164 VALVE BALL BRASS FP 4"
V00190 VALVE DEADMAN 1" STEEL
V00191 VALVE DEADMAN 1" BRASS
V00200104 VALVE BALL S.S. 1000# 1/4" RP
V00200108 VALVE BALL S.S. 1000# 1/2"
V00200112 VALVE BALL S.S. 1000# 3/4"
V00200116 VALVE BALL S.S. 1000# 1"
V00200132 VALVE BALL S.S. 2000# 2" FP
V00200204 VALVE BALL S.S. 2000# 1/4" FP
V00200208 VALVE BALL S.S. 2000# 1/2" FP
V00200212 VALVE BALL S.S. 2000# 3/4" FP
V00200216 VALVE BALL S.S. 2000# 1" FP
V00200232 VALVE BALL S.S. 2000# 2" FP
V00201264 VALVE BALL FP 1000# 4"AOP BOLT
V00201532 VALVE BALL 1500# RP 2"
V0020304 VALVE BALL 2000# FP 1/4"
V0020306 VALVE BALL 2000# FP 3/8"
V0020308 VALVE BALL 2000# FP 1/2"
V0020312 VALVE BALL 2000# FP 3/4"
V0020316 VALVE BALL 2000# FP 1"
V0020320 VALVE BALL 2000# FP 1-1/4"
V0020324 VALVE BALL 2000# FP 1-1/2"
V0020332 VALVE BALL 2000# FP 2"
V0020335 VALVE BALL 2000# FP 2-1/2"
V00204 VALVE BALL 2000# RP 1/4"
V00206 VALVE BALL 2000# RP 3/8"
V00208 VALVE BALL 2000# RP 1/2"
V00212 VALVE BALL 2000# RP 3/4"
V00216 VALVE BALL 2000# RP 1"
V00220 VALVE BALL 2000# RP 1-1/4"
V00224 VALVE BALL 2000# RP 1-1/2"

V00232

VALVE CHECK BRASS 1"

VALVE BALL 2000# RP 2"



V00232S
V00235

V00236
V002B0162SSBN
V002B0164SSBN
V002B0169SSBN
V002B016SSBN
V002B04
V002B08
V002B12
V002B1516
V002B1516FPNAC
V002B1532
V002B15321RPNAC
V002B1532FP
V002B1532FPNAC
V002B1548
V002B1548FP
V002B16
V002B164N
V002B168N
V002B169N
V002B16N
V002B16RP
V002B16RPB
V002B16SFPNAC
V002B3230FP
V002B3230RPNACE
V002B32FP
V002B32FPBLT
V002B32FPBLT5
V002B32RP
V002B32RPBLT
V002B32RPN
V002B48RP
V002B50064NACE
V002B75032
V002B75032NAC
V002B75048
V002B75064
V002B75064NAC
V002B75065
V002B75067
V002HP4128-DlI
V002HP4129
V002HP4129-DlI
V00704

V00707

V00708

V00719

V00732
V007B32
V007B32RPNAC
V01000

V01001

V010010
V01003

V01004
V010042
V010043
V010044

VALVE GATE 2000# 2" SNUBBER
VALVE BALL 3000# RP 2"

VALVE BALL 3000# FP 2"

VALVE BALL 3000# SS RP 1/4" NA
VALVE BALL 3000# SS RP 1/2" NA
VALVE BALL 3000# SS FP 3/4" NA
VALVE BALL 3000# SS RP 1" NA
VALVE BALL 3000# FP 1/4" BALON
VALVE BALL 3000# RP 1/2" BALON
VALVE BALL 3000# FP 3/4" BALON
VALVE BALL 1500# FP 1" BALON
VALVE BALL 1500# FP 1"BALON NA
VALVE BALL 1500# RP 2" BALON
VALVE BALL 1500# RP 2"BALON NA
VALVE BALL 1500# FP 2" BALON
VALVE BALL 1500# FP 2.5" NACE
VALVE BALL 1500# RP 3" BALON
VALVE BALL 1500# FP 3" BALON
VALVE BALL 3000# RP 1" BALON
VALVE BALL 3000# 1/4" BALON NA
VALVE BALL 3000# 1/2" BALON NA
VALVE BALL 3000# 3/4" BALON NA
VALVE BALL 3M# RP1" BALON NACE
VALVE BALL 2000# 1" FP BALON
VALVE BALL 2000# 1" BOLTED
VALVE BALL 2000# 1" FPBALON NA
VALVE BALL 3000# FP 2" BALON
VALVE BALL 3000# 2"RPBALON NAC
VALVE BALL 2000# FP 2" BALON
VALVE BALL 2000# FP 2" BAL BLT
VALVE BALL 2000# FP 2-1/2" BLT
VALVE BALL 2000# RP 2" BALON
VALVE BALL 2000# RP 2"BALONBLT
VALVE BALL 2000 RP 2"BALON NAC
VALVE BALL 2000# RP 3" BALON
VALVE BALL 500# FP 4"BALON NAC
VALVE BALL 750# RP 2" BALON
VALVE BALL 750# RP 2"BALON NAC
VALVE BALL 750# RP 3" BALON
VALVE BALL 750# RP 4" BALON
VALVE BALL 750# RP 4"BALON NAC
VALVE BALL 1000# 4" RP AOP
VALVE PLUG 2"
HANDLE BALL VALVE 2" RP
HANDLE BALL VALVE 2" BORE
HANDLE BALL VALVE 2" FP

VALVE BALL 7500# 1/4"

VALVE BALL 7250# 3/8"

VALVE BALL 7250# 1/2"

VALVE BALL 5075# 1

VALVE BALL 5000# RP 2"

VALVE BALL 5000# RP 2" BALON
VALVE BALL 5000# RP 2"BALON NA
NEEDLE VALVES

VALVE NDL 6M 1/4"M X F

VALVE NDL 6M 1/4"F X F

VALVE NDL MINI 1/4" MXF SS
VALVE NDL MINI 1/4"M X F

VALVE NDL 6M 1/2" M X F S.S.
VALVE NDL6M 1/2"M X F

VALVE NDL 6M 1/2" X 1/4"M X F



V010045
V0100455
V01005
V01608
V01616
V016162
V0161625
V02010
V02020
V02030
V020301
V02040
V02050
V02051
V02055
V02060
V02068
V02070
V02101
V02102
V02103
V021045
V0210455
V021046
V021047
V021048
V02110
V02112
V02120
V02204
V022045
V02208
V02500
V03100
V03202
V03204
V03216
V03232
V0323216
V0323232
V032B16
V032B32
V032B48
VF20032
VF260032AKF
VF260032B
VF260032BRP
VF260048
VF260048B
VF260048BC
VF260064
VF260064B
VF260064BC
VF260080B
VF260080BC
VF260080NB
VLO16
VL032
VL115
VL116
VL132

VALVE NDL 10OM 1/2"M X F

VALVE NDL 10M 1/2" F X F

VALVE NDL 10M 1/2"M X F S.S.
VALVE NDL 90 DEG 10M 1/2" MXF
VALVENDL 1OM 1"M X F S.S.
VALVE NDL 1OM 1"F X F S.S.
VALVE AG NEEDLE

VALVE NDL 6M AG 1/4"M X F
VALVE NDL 6M AG 1/4"F X F
VALVE NDL MINI AG 1/4"M X F
VALVE NDL MINI AG 1/4" MXF SS
VALVE NDL MINI AG 1/4"F X F
VALVE NDL 6M AG 1/2" M X F
VALVE NDL 6M AG 1/2"F X F
VALVE NDL 6M AG 1/2" X 1/4" MF
VALVE NDL 10M AG 1/2"M X F
VALVE NDL 6M AG 1/2"M X F S.S
VALVE NDL 10M AG 1/2"M X F SS
BUTTERFLY VALVES

VALVE BUTTERFLY WAFER 2"
VALVE BUTTERFLY WAFER 3"
VALVE BUTTERFLY WAFER 4" GREEN
VALVE BUTTERFLY WAFER 4" RED
VALVE BUTTERFLY WAFER 5"
VALVE BUTTERFLY WAFER 6"
VALVE BUTTERFLY WAFER 8"
VALVE BUTTERFLY WAFER 10"
VALVE BUTTERFLY WAFER 12"
VALVE BUTTERFLY WAFER 4" WECO
VALVE BUTTERFLY HALE STYLE 4"
BUTTERFLY VALVE 4" ACID
BUTTERFLY VALVE 8" ACID

VALVE GAUGE COCK 1/2" SET
VALVE CHECK IN LINE SET @ 6-7#
VALVE CHECK IN LINE 1/8"MxF SS
VALVE CHECK IN LINE 1/4"MxF SS
VALVE CHECK 2000# 1"

VALVE CHECK 2000# 2"

SEAL F/1" CHECK VLV TULSA STYL
SEAL F/2" CHECK VLV TULSA STYL
VALVE CHECK 2000# 1" BALON
VALVE CHECK 2000# 2" BALON
VALVE CHECK 2000# 3" BALON
VALVE BALL FE 600 FP2" BLN NCE
VALVE BALL F/E600FP2" CAMERON
VALVE BALL F/E 600 FP 2" BALON
VALVE BALL F/E 600 RP 2" BALON
VALVE BALL FE 600 FP3" BLN NCE
VALVE BALL F/E 600 FP 3" BALON
VALVE CHECK F/E 600 3" BALON
VALVE BALL FE 600 FP4"BLN NCE
VALVE BALL F/E 600 FP 4" BALON
VALVE CHECK F/E 600 4" BALON
VALVE BALL F/E 600 FP 6" BALON
VALVE CHECK F/E 600 6" BALON
VALVE BALL F/E 600 NACE 6" FP
SEAL KIT F/2 X 1 LO TORC PLUG
SEAL KIT F/2" LO TORC PLUG VLV
INSERTS F/2 X 1 LO TORC VLV
MAJ REP KIT F/2X1 LO TORC PLUG
MAJ REP KIT F/2"LO TORC PLUG V



VTD107
VTD132
VTIWO0010
VTIW0020
VTIWO0030
VTIW0202
VTIW0203
VTIW0278
VTIWO0279
w
W10032
W10048
W10064
W10096
W10128
W10129
W10130
W1024832
W1026448
W1029648
W1029664
W1029732
W1029743
W14532
W14548
W14564
W14596
W14598
W14599
W14630
W150148
W150164
W150196
W150198
W1502104
W15024
W15026
W15028
W15029
W15030
W183832
W184832
W186432
W186448
W188064
W189648
W189664
W189680
W189886
W1898865
W1898867
W1898868
W19016
W19020
W19024
W19032
W19038
W19048
W19064
W19080

SEAT F/2"DEMCO MUD VLV 5M
MAJ KIT F/2" GATE VALVE DEMCO
SEAT W/TEFLON F/SAFETY VLV
FLOATING INSERT 2-7/8" F/TIW V
SPRING F/SAFETY VLV

HANDLE F/2-7/8" SAFETY VLV
HANDLE F/4-1/2" SAFETY VLV
VALVE SAFETY BALL TIW 2-7/8"
VALVE SAFETY REL 2-7/8"REBUILT

WELD FITTINGS

FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.

WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.

TEE 2"
TEE 3"
TEE 4"
TEE 6"
TEE 8"
TEE 10"
TEE 12"

FIT WELD TEE RED. 3" X 2" STD.
FIT WELD TEE RED. 4" X 3" STD.
FIT WELD TEE RED. 6" X 3" STD.
FIT WELD TEE RED. 6" X 4" STD.
FIT WELD TEE RED. 3" X 2" XH
FIT WELD TEE RED. 4" X 3" XH

FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.

WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.

45 ELL 2"
45 ELL 3"
45 ELL 4"
45 ELL 6"
45 ELL 8"
45 ELL 10"
45 ELL 12"

FLANGE 150 3" THRD RF
FLANGE 150 4" THRD RF
FLANGE 150 6" THRD RF
FLANGE 150 8" THRD RF
FLANGE 150 4" BLIND RF
FLANGE 150 4" S/O RF
FLANGE 150 6" S/O RF
FLANGE 150 8" S/O RF
FLANGE 150 10" S/O RF
FLANGE 150 12" S/O RF

REDUCER WELD STD 2-1/2" X 2"
REDUCER WELD CONC STD 3" X 2"
REDUCER WELD CONC STD 4" X 2"
REDUCER WELD CONC STD 4" X 3"
REDUCER WELD CONC STD 5" X 4"
REDUCER WELD CONC STD 6" X 3"
REDUCER WELD CONC STD 6" X 4"
REDUCER WELD CONC STD 6" X 5"
REDUCER WELD CONC STD 8" X 6"
REDUCER WELD CONC STD 10" X 8"
REDUCER WELD CONC STD 12" X 6"
REDUCER WELD CONC STD 12" X 8"

FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.
FIT.

WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.
WELD STD.

90 ELL 1"
90 ELL 1-1/4"
90 ELL 1-1/2"
90 ELL 2"
90 ELL 2 1/2"
90 ELL 3"
90 ELL 4"
90 ELL 5"



W19096
W19128
W19129
W19130
W20032
W20048
W20064
W20096
W24532
W24548
W24564
W24596
W283216
W284032
W284832
W286432
W286448
W289632
W289648
W289664
W29032
W29048
W29064
W29096
WC0124
WC0138
WC0148
WCo0164
WC0196
WC0198
WC0232
WC0248
WC0264
WC0296
WC0298
WCT2XXH
WCT3XH
WCT3XXH
WFRF15032
WFRF150325
WFRF15048
WFRF150485
WFRF15064
WFRF150645
WFRF15080
WFRF15096
WFRF15098
WFRF150995
WFRF150997
WFRF215002
WFRF230025
WFRF26002
WFRF260022
WFRF260025
WFRF26003
WFRF26004
WFRF30032
WFRF30064
WFRF36002
WFRF360022
WFRF360025

FIT. WELD STD. 90 ELL 6"

FIT. WELD STD. 90 ELL 8"

FIT. WELD STD. 90 ELL 10"

FIT. WELD STD. 90 ELL 12"

FIT. WELD XH TEE 2"

FIT. WELD XH TEE 3"

FIT. WELD XH TEE 4"

FIT. WELD XH TEE 6"

FIT WELD XH 45 2"

FIT WELD XH 45 3"

FIT WELD XH 45 4"

FIT WELD XH 45 6"

REDUCER WELD CONC XH 2" X 1"
REDUCER WELD XH 2-1/2" X 2"
REDUCER CONC WELD XH 3" X 2"
REDUCER CONC WELD XH 4" X 2"
REDUCER CONC WELD XH 4" X 3"
REDUCER CONC WELD XH 6" X 2"
REDUCER CONC WELD XH 6" X 3"
REDUCER CONC WELD XH 6" X 4"
FIT. WELD XH 90 ELL 2"

FIT. WELD XH 90 ELL 3"

FIT. WELD XH 90 ELL 4"

FIT. WELD XH 90 ELL 6"

FIT. WELD STD. CAP 1-1/2"

FIT. WELD STD. CAP 2-1/2"

FIT. WELD STD. CAP 3"

FIT. WELD STD. CAP 4"

FIT. WELD STD. CAP 6"

FIT. WELD CAP STD. 8"

FIT. WELD XH CAP 2"

FIT. WELD XH CAP 3"

FIT. WELD XH CAP 4"

FIT. WELD XH CAP 6"

FIT. WELD XH CAP 8"

TEE CUSHION XXH 2"

TEE CUSHION XH 3"

TEE CUSHION XXH 3"

FLANGE 150 2" STD RF W/N
FLANGE 150 2" XH RF W/N
FLANGE 150 3" STD RF W/N
FLANGE 150 3" XH RF W/N
FLANGE 150 4" STD RF W/N
FLANGE 150 4" XH RF W/N
FLANGE 150 5" STD RF W/N
FLANGE 150 6" STD RF W/N
FLANGE 150 8" STD RF W/N
FLANGE 150 12" STD RF W/N
FLANGE 150 12" BLIND RF
FLANGE 1500 2" XH RF WN
FLANGE 300 2" XH RF W/N
FLANGE 600 2" XH RF W/N
FLANGE 600 2" XXH RF W/N
FLANGE 600 2" STD RF W/N
FLANGE 600 2" THRD RF

FLANGE 600 2" BLIND RF

FLANGE 300 2" THRD RF

FLANGE 300 4" THRD RF

FLANGE 600 3" XH RF W/N
FLANGE 600 3" XXH W/N RF
FLANGE 600 3" STD RF W/N



WFRF36003
WFRF360035
WFRF360037
WFRF430025
WFRF46002
WFRF460021
WFRF460022
WFRF46003
WFRF46004
WFRF466002
WFRF4660021
WFRF4660025
WFRF4660035
WFRF4660098
WFRF4660099
WFRF4660130
WFRTJ2550
WFRTJ3550
WFRTJ3600
WI10032
WI110048
WI10064
WI110096
WI10128
W11029648
WI14532
W114548
WI14564
WI114596
WI114598
WI1150132
WI150148
WI150164
WI150196
WI1150198
WI1502104
WI115024
WI15026
WI115028
WI15029
WI115030
W1184832
W1186432
WI1186448
W1189648
WI1189664
W1189886
WI19016
WI119020
WI19024
WI119032
WI19038
WI119048
WI19064
WI119096
WI19128
WI120032
WI120048
W1200482
WI20064
WI120096

FLANGE 600 3" THRD RF

FLANGE 600 3" BLIND RF
FLANGE 600 3" SCH 160 W/N
FLANGE 300 4" STD RF W/N
FLANGE 600 4" XH RF W/N
FLANGE 600 4" STD RF W/N
FLANGE 600 4" XXH RF W/N
FLANGE 600 4" THRD RF

FLANGE 600 4" BLIND RF
FLANGE 600 6" XH RF W/N
FLANGE 600 XH 6"RTJ 7-1/16" 3M
FLANGE 600 6" STD RF W/N
FLANGE 600 6" BLIND RF
FLANGE 600 8" STD RF W/N
FLANGE 600 10" STD RF W/N
FLANGE 600 12" STD RF W/N
FLANGE RTJ 1-13/16 10M X 2"NPT
FLANGE RTJ 1-13/16 10M X 3"XXH
FLANGE RTJ 600 3" XXH

FIT. WELD STD. TEE 2" |

FIT. WELD STD. TEE 3" |

FIT. WELD STD. TEE 4" |

FIT. WELD STD. TEE 6" |

FIT. WELD STD. TEE 8" |

FIT WELD TEE RED 6" X 3" STD |
FIT. WELD STD. 45 ELL 2"

FIT. WELD STD. 45 ELL 3"

FIT. WELD STD. 45 ELL 4"

FIT. WELD STD. 45 ELL 6" |

FIT. WELD STD. 45 ELL 8"
FLANGE 150 2" THRD RF |
FLANGE 150 3" THRD RF |
FLANGE 150 4" THRD RF |
FLANGE 150 6" THRD RF |
FLANGE 150 8" THRD RF |
FLANGE 150 4" BLIND RF |
FLANGE 150 4" S/O RF |

FLANGE 150 6" S/O RF |

FLANGE 150 8" S/O RF |

FLANGE 150 10" S/O RF |

FLANGE 150 12" S/O RF |
REDUCER WELD CONC STD 3"X2" |
REDUCER WELD CONC STD 4" X 2"l
REDUCER WELD CONC STD 4" X3" |
REDUCER WELD CONC STD 6"X3" |
REDUCER WELD CONC STD 6"X4" |
REDUCER WELD CONC STD 8"X6" |
FIT. WELD STD. 90 ELL 1" |

FIT. WELD STD. 90 ELL 1-1/4" 1|
FIT. WELD STD. 90 ELL 1-1/2"
FIT. WELD STD. 90 ELL 2" |

FIT. WELD STD. 90 ELL 2 1/2" |
FIT. WELD STD. 90 ELL 3" |

FIT. WELD STD. 90 ELL 4" |

FIT. WELD STD. 90 ELL 6" |

FIT. WELD STD. 90 ELL 8" |

FIT. WELD XH TEE 2" |

FIT. WELD XH TEE 3" |

FIT. WELD XXH TEE 3" |

FIT. WELD XH TEE 4" |

FIT. WELD XH TEE 6" |



WI124532
WI24548
W1245482
WI24564
WI124596
WI284032
W1284832
WI286432
W1286448
WI289632
W1289648
WI289664
WI1289670
WI289675
WI129032
WI129048
W1290482
WI29064
WIC0136
WIC0148
WIC0164
WIC0196
WIC0198
WIC0232
WI1C0248
WIC0264
WIC0296
WIC0298
WIFRF15032
WIFRF150365
WIFRF15048
WIFRF150485
WIFRF15064
WIFRF150645
WIFRF15080
WIFRF15096
WIFRF15098
WIFRF150995
WIFRF150997
WIFRF26002
WIFRF260022
WIFRF260025
WIFRF26003
WIFRF26004
WIFRF30048
WIFRF30064
WIFRF30064T
WIFRF30072
WIFRF30096
WIFRF36002
WIFRF360022
WIFRF360025
WIFRF36003
WIFRF360035
WIFRF46002
WIFRF460021
WIFRF460022
WIFRF46003
WIFRF46004
WIFRF466002
WIFRF4660025

FIT. WELD XH 45 2" |

FIT. WELD XH 45 3" |

FIT. WELD XXH 45 ELL 3" |

FIT. WELD XH 45 4" |

FIT. WELD XH 45 6" |

REDUCER WELD XH 2-1/2" X 2" |
REDUCER CONC WELD XH 3"X2" |
REDUCER CONC WELD XH 4" X 2" |
REDUCER CONC WELD XH 4" X 3" |
REDUCER CONC WELD XH 6" X 2" |
REDUCER CONC WELD XH 6" X 3" |
REDUCER CONC WELD XH 6" X 4" |
REDUCER CONC WELD XXH 3" X 2"|
REDUCER CONC WELD XXH 4" X 3"|
FIT. WELD XH 90 ELL 2" |

FIT. WELD XH 90 ELL 3" |

FIT. WELD XXH 90 ELL 3" |

FIT. WELD XH 90 ELL 4" |

FIT. WELD STD. CAP 2" |

FIT. WELD STD. CAP 3"

FIT. WELD STD. CAP 4" |

FIT. WELD STD. CAP 6" |

FIT. WELD CAP STD. 8" |

FIT. WELD XH CAP 2" |

FIT. WELD XH CAP 3" |

FIT. WELD XH CAP 4" |

FIT. WELD XH CAP 6" |

FIT. WELD XH CAP 8" |

FLANGE 150 2" STD RF W/N |
FLANGE 150 2 1/2" XH RF W/N |
FLANGE 150 3" STD RF W/N |
FLANGE 150 3" XH RF W/N |
FLANGE 150 4" STD RF W/N |
FLANGE 150 4" XH RF W/N |
FLANGE 150 5" STD RF W/N |
FLANGE 150 6" STD RF W/N |
FLANGE 150 8" STD RF W/N |
FLANGE 150 12" STD RF W/N |
FLANGE 150 12" BLIND RF |
FLANGE 600 2" XH RF W/N |
FLANGE 600 2" XXH RF W/N |
FLANGE 600 2" STD RF W/N |
FLANGE 600 2" THRD RF |

FLANGE 600 2" BLIND RF |

FLANGE 300 3" RF BLIND |

FLANGE 300 4" RF BLIND |

FLANGE 300 4" THRD RF |

FLANGE 300 6" RF BLIND |

FLANGE 300 8" RF BLIND |

FLANGE 600 3" XH RF W/N |
FLANGE 600 3" XXH W/N RF |
FLANGE 600 3" STD RF W/N |
FLANGE 600 3" THRD RF |

FLANGE 600 3" BLIND RF |

FLANGE 600 4" XH RF W/N |
FLANGE 600 4" STD RF W/N |
FLANGE 600 4" XXH RF W/N |
FLANGE 600 4" THRD RF |

FLANGE 600 4" BLIND RF |

FLANGE 600 6" XH RF W/N |
FLANGE 600 6" STD RF W/N |



WIFRF4660035 FLANGE 600 6" BLIND RF |

WSEOL163M E-O-L 1" 3000# NPT A105
WTOLO083M T-O-L 1/2" 3000#
WTOLO086M T-O-L 1/2" 6000#
WTOL123M T-O-L 3/4" 3000#
WTOL163M T-O-L 1" 3000#
WTOL166M T-O-L 1" 6000#

WTOL323M T-O-L 2" 3000#



